March 2024



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 16330

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 02/24	CLASS Stand Mail	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.2370 pounds	TOTAL PIECES 24,051	TOTAL POUNDS 5,700.0870	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		postr	
PALLETS 10	INSERTS: 1 XCELSEMINARS	SOUTHERN CALIFORNIA EDITION	
VERIFICATION SUMMARY: No verification errors.		DEIA	FRS!
TRA	DER	DELIV	Eno.
SIGNATURE OF WEIGHER	JL DATA PROCESSED BY	RECEIVED FOR PROCESSING BY	
COMMENTS: DENTAL T	RADER		



Restricted Information

3602

POSTAL SERVICE STATEMENT OF MAILING WEIGHING AND DISPATCH CERTIFICATE

STATEMENT 16332

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 02/24	CLASS St. Iail	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.1460	TOTAL PIECES 16,050	TOTAL POUNDS 2,343.3000	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		postri)	
PALLETS 5	INSERTS:1 XCEL SEMINARS	NORTHERN CALIFORNIA EDITION	
VERIFICATION SUMMARY: No verification errors.		DENIA	
SIG ATU			
Velgh H	DATA PROCESSED BY	RECEIVED FOR	PROCESSING BY
COMMENTS: DENTAL 1	[RADER		

February 2024



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 16306

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 01/24	CLASS Stand Mail	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.2340 pounds	TOTAL PIECES 24,049	TOTAL POUNDS 5,627.4660	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO.		positi	
PALLETS 10	INSERTS: 2 XCELSEMINARS, CIDE	SOUTHERN CALIFORNIA EDITION	
VERIFICATION SUMMARY No verification errors. SIGNATURE OF WEIGHER	DEP DATA PROCESSED BY	DELIV RECEIVED FOR PRO	ERS!
COMMENTS: DENTAL T	RADER		



Restricted Information

3602

POSTAL SERVICE STATEMENT OF MAILING WEIGHING AND DISPATCH CERTIFICATE

STATEMENT 16305

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 01/24	CLASS St. Sil	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.1585	TOTAL PIECES 16,049	TOTAL POUNDS 2,543.7665	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		DOSTIA!	
PALLETS 5	INSERTS:3 XCEL SEMINARS, CIDE & PUNJABI	NORTHERN CALIFORNIA EDITION	
VERIFICATION SUMMARY: No verification errors.		DENIA	
SIG ATU	JL -	3 DELIN	VERS!
VEIGHER	DATA PROCESSED BY	RECEIVED FOR PROCESSING BY	
COMMENTS: DENTAL	TRADER		

January 2024



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 16297

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 01/24	CLASS Stand Mail	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.2215 pounds	TOTAL PIECES 24,050	TOTAL POUNDS 5,327.0750	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO.		positi	
PALLETS 10	INSERTS: 1 XCELSEMINARS	SOUTHERN CALIFORNIA EDITION	
VERIFICATION SUMMARY No verification errors.	THE	DELIV	ERS!
SIGNATURE OF	JL DATA PROCESSED BY	RECEIVED FOR PRO	DCESSING BY
COMMENTS: DENTAL T	RADER		



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 16298

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 01/24	CLASS St. Sil	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.1320	TOTAL PIECES 16,050	TOTAL POUNDS 2,118.6000	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		postra)	
PALLETS 5	INSERTS:1 XCEL SEMINARS	NORTHERN CALIFORNIA EDITION	
VERIFICATION SUMMARY: No verification errors.		DENIAL	
SIG ATU	I ME ADEF	RDELI	VERS!
VEIGHER	DATA PROCESSED BY	RECEIVED FOR PROCESSING BY	
COMMENTS: DENTAL T	TRADER		

December 2023



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 16276

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 11/23	CLASS Stand Mail	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.2190 pounds	TOTAL PIECES 23,999	TOTAL POUNDS 5,255.7810	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO.		positi	
PALLETS 10	INSERTS: 1 XCELSEMINARS	SOUTHERN CALIFORNIA EDITION	
VERIFICATION SUMMARY No verification errors. SIG LATULE O	THE DER	DELIV RECEIVED FOR PRO	ERS!
COMMENTS: DENTAL T			



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 16275

GUARANTEED CIRCULATION

PERMIT NO: 94 SAN DIEGO BULK MAIL STATION OR UNIT: **CLASS** TYPE **PROC CAT DATE OF MAILING** Flat ы 11/23 **Customer Reference ID** WEIGHT OF SINGLE PIECE (LBS) TOTAL POUNDS N/A 2,073.4245 CAPS Asset No: _ 0.1295 MAILED FOR: PERMIT NO. NAME: **INSERTS:1 PALLETS** DENTAL PROPERTY OF THE PROPERT **XCEL SEMINARS** 5 **VERIFICATION SUMMARY:** No verification errors. DATA PROCESSED BY RECEIVED FOR PROCESSING BY COMMENTS: DENTAL TRADER

November 2023



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 16261

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 10/23	CLASS Stand Mail	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.2700 pounds	TOTAL PIECES 24,002	TOTAL POUNDS 6,480.5400	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		positi	
PALLETS 10	INSERTS: 2 XCEL SEMINARS & CIDE	SOUTHERN CALIFOR	NIA EDITION
VERIFICATION SUMMARY No verification errors.	THE		ERS!
WEIGHER	DATA PROCESSED BY	RECEIVED FOR PRO	DCESSING BY
COMMENTS: DENTAL T	RADER		



Restricted Information

3602

POSTAL SERVICE STATEMENT OF MAILING WEIGHING AND DISPATCH CERTIFICATE

STATEMENT 16262

GUARANTEED CIRCULATION

PERMIT NO: 94 SAN DIEGO BULK MAIL STATION OR UNIT: **CLASS** TYPE **PROC CAT DATE OF MAILING** Flat ΡI 10/23 **Customer Reference ID WEIGHT OF SINGLE TOTAL POUNDS** N/A PIECE (LBS) 2,582.5743 CAPS Asset No: _ 0.1613 MAILED FOR: PERMIT NO. NAME: **INSERTS:2 PALLETS** DENTAL RDELIVERS! **XCEL SEMINARS &** 5 CIDE **VERIFICATION SUMMARY:** No verification errors. DATA PROCESSED BY RECEIVED FOR PROCESSING BY COMMENTS: DENTAL TRADER

October 2023



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 16246

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 9/23	CLASS Stand Mail	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.2500 pounds	TOTAL PIECES 24,005	TOTAL POUNDS 6,001.2500	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO.		positi	
PALLETS 10	INSERTS: 1 XCEL SEMINARS	SOUTHERN CALLFOR	NIA EDITION
VERIFICATION SUMMARY: No verification errors.		DEIA	FRS!
TRA	DER	DELIV	Eno.
SIGNATURE OF	JL DATA PROCESSED BY	RECEIVED FOR PRO	DCESSING BY
COMMENTS: DENTAL T	RADER		



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 16247

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 9/23	CLASS St. Iail	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.1475	TOTAL PIECES 16,014	TOTAL POUNDS 2,362.0650	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		postri)	
PALLETS 5	INSERTS:1 XCEL SEMINARS	NORTHERN CALIFORNIA EDITION	
VERIFICATION SUMMARY: No verification errors.		DENIAL	
SIG ATU		R DELI	VERS!
VEIGHER	DATA PROCESSED BY	RECEIVED FOR	PROCESSING BY
COMMENTS: DENTAL 1	TRADER		

September 2023



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 16238

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 8/23	CLASS Stand Mail	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.2500 pounds	TOTAL PIECES 24,006	TOTAL POUNDS 6,001.5000	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		postr	
PALLETS 10	INSERTS: 1 XCEL SEMINARS	SOUTHERN CALLFOR	NIA EDITION
VERIFICATION SUMMARY: No verification errors.		DEIA	FRS!
TRA	DER	DELIV	Eno.
SIGNATURE OF	JL DATA PROCESSED BY	RECEIVED FOR PRO	DCESSING BY
COMMENTS: DENTAL T	RADER		



Restricted Information

3602

POSTAL SERVICE STATEMENT OF MAILING WEIGHING AND DISPATCH CERTIFICATE

STATEMENT 16239

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 8/23	CLASS St. Iail	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.1580	TOTAL PIECES 16,018	TOTAL POUNDS 2,530.8440	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		DOSTIAN)	
PALLETS 5	INSERTS:1 XCEL SEMINARS	NORTHERN CALIFORNIA EDITION	
VERIFICATION SUMMARY: No verification errors.		DENIAL	
SIG ATU	INL	R DELIN	VERS!
V IGH R	DATA PROCESSED BY	RECEIVED FOR	PROCESSING BY
COMMENTS: DENTAL 1	TRADER		

August 2023



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 16220

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 7/23	CLASS Stand Mail	PROC CAT Flat	TYPE Pl
WEIGHT OF SINGLE PIECE (LBS) 0.2670 pounds	TOTAL PIECES 24,010	TOTAL POUNDS 6,410.6700	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		positi	
PALLETS 13	INSERTS: 1 XCEL SEMINARS	SOUTHERN CALLFOR	NIA EDITION
VERIFICATION SUMMARY No verification errors.	THE	DELIV	ERS!
SIGNATURE OF	JL DATA PROCESSED BY	RECEIVED FOR PRO	CESSING BY
COMMENTS: DENTAL T	RADER		



Restricted Information

3602

POSTAL SERVICE STATEMENT OF MAILING WEIGHING AND DISPATCH CERTIFICATE

STATEMENT 16219

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 7/23	CLASS St. Sil	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.1595	TOTAL PIECES 16,019	TOTAL POUNDS 2,555.0305	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		post	
PALLETS 5	INSERTS:1 XCEL SEMINARS	NORTHERN CALIFORNIA EDITION	
VERIFICATION SUMMAR' No verification errors.		DENIA	
SIG ATU	JL -	R DELIN	VERS!
V EIGHTR	DATA PROCESSED BY	RECEIVED FOR	PROCESSING BY
COMMENTS: DENTAL	TRADER		

June 2023



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 16194

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 5/23	CLASS Stand Mail	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.2670 pounds	TOTAL PIECES 24,010	TOTAL POUNDS 6,410.6700	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		positi	
PALLETS 13	INSERTS: 2 XCEL & CIDE	SOUTHERN CALIFOR	NIA EDITION
VERIFICATION SUMMARY No verification errors.	THE DEP	DELIV RECEIVED FOR PRO	ERS!
COMMENTS: DENTAL T			



Restricted Information

3602

POSTAL SERVICE STATEMENT OF MAILING WEIGHING AND DISPATCH CERTIFICATE

STATEMENT 16193

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 5/23	CLASS St. Iail	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.1715	TOTAL PIECES 16,020	TOTAL POUNDS 2,747.4300	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		post	
PALLETS 5	INSERTS:2 XCEL & CIDE	NORTHERN CALIFORNIA EDITION	
VERIFICATION SUMMARY: No verification errors.		DENIAL	
SIG ATU	I ME	RDELI	VERS!
VEIGHER	DATA PROCESSED BY	RECEIVED FOR	PROCESSING BY
COMMENTS: DENTAL	ΓRADER		

May 2023



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 16187

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 4/23	CLASS Stand Mail	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.2780 pounds	TOTAL PIECES 24,012	TOTAL POUNDS 6,675.3360	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		positi	
PALLETS 13	INSERTS: 2 XCEL & CIDE	SOUTHERN CALIFOR	NIA EDITION
VERIFICATION SUMMARY No verification errors.	THE	DELIV	ERS!
SIGNATURE OF	JL DATA PROCESSED BY	RECEIVED FOR PRO	OCESSING BY
COMMENTS: DENTAL T	RADER		



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 16186

GUARANTEED CIRCULATION

PERMIT NO: 94 SAN DIEGO BULK MAIL STATION OR UNIT: **CLASS** TYPE **PROC CAT** DATE OF MAILING ы Flat 4/23 **Customer Reference ID** WEIGHT OF SINGLE TOTAL POUNDS N/A PIECE (LBS) 3.436.0755 CAPS Asset No: _ 0.2145 MAILED FOR: PERMIT NO. NAME: **INSERTS:4 PALLETS EXCEL SEMINARS,** 6 **EXOCAD, DONOHUE** HORROW, PDS R DELIVERS **VERIFICATION SUMMARY:** No verification errors. DATA PROCESSED BY RECEIVED FOR PROCESSING BY COMMENTS: DENTAL TRADER

April 2023



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 16175

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 3/23	CLASS Stand Mail	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.2640 pounds	TOTAL PIECES 24,025	TOTAL POUNDS 6,342.6000	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		posts	
PALLETS 12	INSERTS: 1 XCEL	SOUTHERN CALLFOR	NIA EDITION
VERIFICATION SUMMARY No verification errors. SIGNATURE OF THE OF T	THE DER	DELIV DELIVED FOR PRO	ERS!
COMMENTS: DENTAL T			



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 16176

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 3/23	CLASS St. Sil	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.1595	TOTAL PIECES 16,033	TOTAL POUNDS 2,557.2635	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		post	
PALLETS 5	INSERTS:1 XCEL	NORTHERN CALIFORNIA EDITION	
VERIFICATION SUMMARY: No verification errors.		DENIA	
SIG ATU V EIGH R	DATA PROCESSED BY		VERS!
COMMENTS: DENTAL	TRADER	THEOLIVES I OIL	
Commento. DENTAL	i i iziw let t		

March 2023



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 16161

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 2/23	CLASS Stand Mail	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.2735 pounds	TOTAL PIECES 24,036	TOTAL POUNDS 6,573.8460	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		posts	
PALLETS 13	INSERTS: 2 XCEL AND DENTIMAX	SOUTHERN CALLFOR	NIA EDITION
VERIFICATION SUMMARY No verification errors. SIGNATULE OF THE OF T	THE DER	DELIV RECEIVED FOR PRO	ERS!
COMMENTS: DENTAL T			



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 16160

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 2/23	CLASS St. Iail	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.1715	TOTAL PIECES 16,044	TOTAL POUNDS 2,751.5460	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		post	
PALLETS 5	INSERTS:2 XCEL AND DENTIMAX	NORTHERN CALIFORNIA EDITION	
VERIFICATION SUMMARY: No verification errors.		DENIA	
SIG ATU VEIGH R	DE DATA PROCESSED BY		PROCESSING BY
COMMENTS: DENTAL	ΓRADER		

February 2023



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 16147

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 1/23	CLASS Stand Mail	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.2680 pounds	TOTAL PIECES 24,045	TOTAL POUNDS 6,444.0600	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		DOSTI	
PALLETS 12	INSERTS: 2 XCEL AND DENTIMAX	SOUTHERN CALLFOR	NIA EDITION
VERIFICATION SUMMARY No verification errors.	THE DER	DELIV RECEIVED FOR PRO	ERS!
COMMENTS: DENTAL T			



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 16146

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 1/23	CLASS St. Iail	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.1765	TOTAL PIECES 16,050	TOTAL POUNDS 2,832.8250	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		post	
PALLETS 5	INSERTS:2 XCEL AND DENTIMAX	NORTHERN CALIFORNIA EDITION	
VERIFICATION SUMMARY: No verification errors.		DENIA	
SIG ATU VEIGH R	DE DATA PROCESSED BY		PROCESSING BY
COMMENTS: DENTAL	ΓRADER		

January 2023



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 16139

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 12/22	CLASS Stand Mail	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.4150 pounds	TOTAL PIECES 24,051	TOTAL POUNDS 9,981.1650	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		postr	
PALLETS 17	INSERTS:1 XCEL SEMINARS	SOUTHERN CALLFOR	NIA EDITION
VERIFICATION SUMMARY No verification errors. SIGNATURE OF THE OF T	DER JL DATA PROCESSED BY	DELIVED FOR PRO	ERS!
COMMENTS: DENTAL T	RADER		



Restricted Information

3602

POSTAL SERVICE STATEMENT OF MAILING WEIGHING AND DISPATCH CERTIFICATE

STATEMENT 16138

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
	,		
DATE OF MAILING	CLASS	PROC CAT	TYPE
12/22	St	Flat	PI
	TOTAL DIEGEO		Customer Reference ID
WEIGHT OF SINGLE	TOTAL PIECES	TOTAL POUNDS	N/A
PIECE (LBS)	16,051	5,240.6515	CAPS Asset No:
0.3265			
MAILED FOR:			111
PERMIT NO.			
		101151	
NAME:			
PALLETS	INSERTS:1		
9	XCEL SEMINARS	NORTHERN CALIFOL	RNIA EDITION
VERIFICATION SUMMAR		DENIA	
No verification errors.		R DELIN	
	IHL		IPDS1
		1 1	IPD'
		- DLII	V L -
	SEL	2 1166	
SIG ATU	JL.		
V EIGHTR	DATA PROCESSED BY	RECEIVED FOR	PROCESSING BY
_			
COMMENTS: DENTAL 7	ΓRADER		

December 2022



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 16122

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 11/22	CLASS Stand Mail	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.2970 pounds	TOTAL PIECES 23,980	TOTAL POUNDS 7,122.0600	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		postr	
PALLETS 14	INSERTS:3 DENTIMAX DENTAL CPA XCEL SEMINARS	SOUTHERN CALIFOR	NIA EDITION
VERIFICATION SUMMARY No verification errors. SIGNATURE OF THE SIGNATURE O	THE DER	DELLIV RECEIVED FOR PRO	ERS!
COMMENTS: DENTAL T	RADER		



Restricted Information

3602

POSTAL SERVICE STATEMENT OF MAILING WEIGHING AND DISPATCH CERTIFICATE

STATEMENT 16123

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 11/22	CLASS St. Sil	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE 0.2070	TOTAL PIECES 15,984	TOTAL POUNDS 3,308.6880	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		postiki)	
PALLETS 5	INSERTS:3 DENTIMAX DENTAL CPA XCEL SEMINARS	NORTHERN CALIFORNIA EDITION	
VERIFICATION SUMMARY: No verification errors.		DENIAL	
SIG ATU V EIGH R	DE DATA PROCESSED BY		VERS!
		RECEIVED FOR	PROCESSING BY
COMMENTS: DENTAL 1	FRADER		

November 2022



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 16093

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 10/22	CLASS Stand Mail	PROC CAT Flat	TYPE Pl
WEIGHT OF SINGLE PIECE (LBS) 0.2920 pounds	TOTAL PIECES 23,989	TOTAL POUNDS 7,004.7880	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		positi	
PALLETS 14	INSERTS:1 Dentimax & XCEL	SOUTHERN CALLFOR	NIA EDITION
VERIFICATION SUMMARY No verification errors.	THE	DELIV	ERS!
SIGNATURE OF	JL DATA PROCESSED BY	RECEIVED FOR PRO	CESSING BY
COMMENTS: DENTAL T	RADER		



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 16082

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 10/22	CLASS St. Sil	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.2015	TOTAL PIECES 15,992	TOTAL POUNDS 3,222.3880	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		post	
PALLETS 5	INSERTS:1 Dentimax & XCEL	NORTHERN CALIFORNIA EDITION	
VERIFICATION SUMMARY: No verification errors.		DENIA	
SIG ATU V EIGH R	DATA PROCESSED BY		VERS!
COMMENTS DENTAL	FDADED	RECEIVED FOR	PROCESSING BY
COMMENTS: DENTAL	INAVEN		

October 2022



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 16009

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 09/22	CLASS Stand Mail	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.2770 pounds	TOTAL PIECES 23,989	TOTAL POUNDS 6,644.9530	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		positi	
PALLETS 12	INSERTS:1 XCEL SEMINARS	SOUTHERN CALIFOR	NIA EDITION
VERIFICATION SUMMARY No verification errors.	THE	DELIV	ERS!
SIGNATURE OF	JL DATA PROCESSED BY	RECEIVED FOR PRO	OCESSING BY
COMMENTS: DENTAL T	RADER		



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 16010

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 09/22	CLASS St. Iail	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.1875	TOTAL PIECES 15,996	TOTAL POUNDS 2,999.2500	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		post	
PALLETS 5	INSERTS:1 XCEL SEMINARS	NORTHERN CALIFORNIA EDITION	
VERIFICATION SUMMARY: No verification errors.		DENIA	
SIG ATU VEIGH R	DATA PROCESSED BY		PROCESSING BY
COMMENTS: DENTAL	TRADER		

August 2022



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 57989

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 07/22	CLASS Stand Mail	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.3280 pounds	TOTAL PIECES 24,002	TOTAL POUNDS 7,872.6560	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		positi	
PALLETS 13	INSERTS:1 Xcel, Esthetic Professionals & Veranium	SOUTHERN CALIFOR	NIA EDITION
VERIFICATION SUMMARY No verification errors.	THE	DELIV	ERS!
SIC ATULE OF	JL DATA PROCESSED BY	RECEIVED FOR PRO	DCESSING BY
COMMENTS: DENTAL T	RADER		



Restricted Information

3602

POSTAL SERVICE STATEMENT OF MAILING WEIGHING AND DISPATCH CERTIFICATE

STATEMENT 57988

GUARANTEED CIRCULATION

PERMIT NO: 94 SAN DIEGO BULK MAIL STATION OR UNIT: **DATE OF MAILING CLASS** TYPE **PROC CAT** ы 07/22 Flat **Customer Reference ID TOTAL POUNDS** N/A 3,367.3685 CAPS Asset No: _ 0.2105 MAILED FOR: PERMIT NO. NAME: **PALLETS INSERTS:1** Xcel. **Esthetic Professionals** R DELIVERS **VERIFICATION SUMMARY:** No verification errors. DATA PROCESSED BY RECEIVED FOR PROCESSING BY COMMENTS: DENTAL TRADER

June 2022



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 57955

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 05/22	CLASS Stand Mail	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.2715 pounds	TOTAL PIECES 24,000	TOTAL POUNDS 6,516.0000	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		positi	
PALLETS 12	INSERTS:1 Xcel	SOUTHERN CALLFOR	NIA EDITION
VERIFICATION SUMMARY No verification errors.	THE	DELIV	ERS!
SIGNATURE OF WEIGHER	JL DATA PROCESSED BY	RECEIVED FOR PRO	CESSING BY
COMMENTS: DENTAL 1	RADER		



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 57956

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 05/22	CLASS St. Iail	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.1790	TOTAL PIECES 15,998	TOTAL POUNDS 2,863.6420	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		posti	
PALLETS 5	INSERTS:1 Xcel	NORTHERN CALIFORNIA EDITION	
VERIFICATION SUMMARY: No verification errors.		DENIA	
SIG ATURA DE PARA PROGRAMA PARA		R DELIVERS!	
VEIGHER DATA PROCESSED BY RECEIVED FOR PROCESSING BY		PROCESSING BY	
COMMENTS: DENTAL 1	FRADER		

May 2022



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 57911

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 04/22	CLASS Stand Mail	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.2785 pounds	TOTAL PIECES 24,000	TOTAL POUNDS 6,684.0000	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO.		positi	
PALLETS 12	INSERTS:1 Xcel	SOUTHERN CALLFOR	NIA EDITION
VERIFICATION SUMMARY No verification errors.	THE	DELIV RECEIVED FOR PRO	ERS!
COMMENTS: DENTAL T	DATA PROCESSED BY	TIEGEN 25 TOTAL TO	



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 57912

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 04/22	CLASS St. Sil	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.1800	TOTAL PIECES 16,002	TOTAL POUNDS 2,880.3600	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		post	
PALLETS 4	INSERTS:1 Xcel	NORTHERN CALIFORNIA EDITION	
VERIFICATION SUMMARY: No verification errors.		DENIA	
SIG ATU	INL	R DELIY	VERS!
VEIGHER	DATA PROCESSED BY	RECEIVED FOR	PROCESSING BY
COMMENTS: DENTAL	ΓRADER		

April 2022



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 57893

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 3/22	CLASS Stand Mail	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.3390 pounds	TOTAL PIECES 24,000	TOTAL POUNDS 8,136.0000	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		postr	
PALLETS 15	INSERTS:3 Xcel, DocSites,Pinhole	SOUTHERN CALIFOR	NIA EDITION
VERIFICATION SUMMARY No verification errors.	THE	DELIV	ERS!
SIC ATULE O	JL DATA PROCESSED BY	RECEIVED FOR PRO	OCESSING BY
COMMENTS: DENTAL T	RADER		



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 57894

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 3/22	CLASS St. Iail	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.2370	TOTAL PIECES 16,009	TOTAL POUNDS 3,794.1330	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		positi	
PALLETS 8	INSERTS:3 Xcel, DocSites, Pinhole	NORTHERN CALIFORNIA EDITION	
VERIFICATION SUMMARY: No verification errors.		DENIA	
SIGNATURA DATA PROCESSED BY RECEIVED FOR PROCESSING BY			
		RECEIVED FOR	PROCESSING BY
COMMENTS: DENTAL	ΓRADER		

March 2022



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 57878

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 2/22	CLASS Stand Mail	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE 0.2845 pounds	TOTAL PIECES 24,008	TOTAL POUNDS 6,830.2760	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		positi	
PALLETS 12	INSERTS:1 Xcel Seminars	SOUTHERN CALLFOR	NIA EDITION
VERIFICATION SUMMARY No verification errors.	THE	DEIA	FRS!
TRA	DER	DELIV	Euo.
SIGNATURE OF	JL DATA PROCESSED BY	RECEIVED FOR PRO	DCESSING BY
COMMENTS: DENTAL T	RADER		



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 57879

OTATION OF UNIT	CAN DIECO DIII KA	AAU	PERMIT NO: 94
STATION OR UNIT:	SAN DIEGO BULK MAIL		PENIIII NO. 94
DATE OF MAILING 2/22	CLASS St. Sil	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.1840	TOTAL PIECES 16,009	TOTAL POUNDS 2,945.6560	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		positi	
PALLETS 5	INSERTS:1 Xcel Seminars	NORTHERN CALIFORNIA EDITION	
VERIFICATION SUMMARY: No verification errors.		DENIA	
SIG ATU	JL.	R DELIN	VERS!
VEIGHER	DATA PROCESSED BY	RECEIVED FOR	PROCESSING BY
COMMENTS: DENTAL	ΓRADER		

February 2022



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 57863

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 1/22	CLASS Stand Mail	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.2585 pounds	TOTAL PIECES 24,005	TOTAL POUNDS 6,205.2925	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		positi	
PALLETS 11	INSERTS:1 Xcel Seminars	SOUTHERN CALIFOR	NIA EDITION
VERIFICATION SUMMARY No verification errors. SIG IATULE O	THE DER	DELIV RECEIVED FOR PRO	ERS!
COMMENTS: DENTAL T			



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 57864

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 1/22	CLASS St. Sil	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.1810	TOTAL PIECES 16,009	TOTAL POUNDS 2,897.6290	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		post	
PALLETS 5	INSERTS:2 Xcel Seminars Punjabi	NORTHERN CALIFORNIA EDITION	
VERIFICATION SUMMARY: No verification errors.		DENIA	
SIG ATU	I ME ADEF	3 DELIN	VERS!
VEIGHTR	DATA PROCESSED BY	RECEIVED FOR	PROCESSING BY
COMMENTS: DENTAL	TRADER		

January 2022



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 57853

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 12/21	CLASS Stand Mail	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.2715 pounds	TOTAL PIECES 24,003	TOTAL POUNDS 6,516.8145	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO.		positi	
PALLETS 12	INSERTS:1 Xcel Seminars	SOUTHERN CALLFOR	NIA EDITION
VERIFICATION SUMMARY No verification errors.	THE	DEIA	FRS!
TRA	DER	DELIV	Eno.
SIGNATURE OF	JL DATA PROCESSED BY	RECEIVED FOR PRO	DCESSING BY
COMMENTS: DENTAL T	RADER		



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 57854

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 12/21	CLASS St. Sil	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.1670	TOTAL PIECES 16,005	TOTAL POUNDS 2,672.8350	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		post	
PALLETS 5	INSERTS:1 Xcel Seminars	NORTHERN CALIFORNIA EDITION	
VERIFICATION SUMMARY: No verification errors.		DENIA	
SIG ATU VEIGH R	DATA PROCESSED BY		VERS! PROCESSING BY
COMMENTS: DENTAL TRADER			

December 2021



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 57836

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 11/21	CLASS Stand Mail	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.4155 pounds	TOTAL PIECES 23,954	TOTAL POUNDS 9,952.8870	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		postr	
PALLETS 17	INSERTS:1 2022 Calendar	SOUTHERN CALIFOR	NIA EDITION
VERIFICATION SUMMARY: No verification errors.		DEIA	FRS!
TRA	DER	DELIV	Euo.
SICHATULE ON WEIGHER	JL DATA PROCESSED BY	RECEIVED FOR PROCESSING BY	
COMMENTS: DENTAL 1	RADER		
		I .	



Restricted Information

3602

POSTAL SERVICE STATEMENT OF MAILING WEIGHING AND DISPATCH CERTIFICATE

STATEMENT 57834

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 11/21	CLASS St lail	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.3115	TOTAL PIECES 15,670	TOTAL POUNDS 4,881.2050	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		positi	
PALLETS 8	INSERTS:1 2022 Calendar	NORTHERN CALIFORNIA EDITION	
VERIFICATION SUMMAR' No verification errors.	Y:	DENIA	
SIG ATU JL JL PATA PROCESSED BY			VERS!
		TIESELVES I SII	THOOLSOING BT
COMMENTS: DENTAL 1	FRADER		

November 2021



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 57810

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 10/21	CLASS Stand Mail	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.2505 pounds	TOTAL PIECES 23,954	TOTAL POUNDS 6,000.4770	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO.		positi	
PALLETS 11	INSERTS:0	SOUTHERN CALIFOR	NIA EDITION
VERIFICATION SUMMARY No verification errors.	THE DER	DELIV RECEIVED FOR PRO	ERS!
COMMENTS: DENTAL T			



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 57812

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 10/21	CLASS St. Iail	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.1320	TOTAL PIECES 15,676	TOTAL POUNDS 2,069.2320	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		postri)	
PALLETS 4	INSERTS:0	NORTHERN CALIFORNIA EDITION	
VERIFICATION SUMMAR' No verification errors.		DENIA	
SIG ATU	14-	RDELI	VERS!
VEIGHER	DATA PROCESSED BY	RECEIVED FOR	PROCESSING BY
COMMENTS: DENTAL	ΓRADER		

October 2021



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 57794

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 09/21	CLASS Stand Mail	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.2325 pounds	TOTAL PIECES 23,959	TOTAL POUNDS 5,570.4675	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		positi	
PALLETS 11	INSERTS:0	SOUTHERN CALIFORNIA EDITION	
VERIFICATION SUMMARY: No verification errors.		DEIAI	FRS!
SIC ATU E O	DER		
WEIGHER	DATA PROCESSED BY	RECEIVED FOR PROCESSING BY	
COMMENTS: DENTAL T	RADER		



Restricted Information

3602

POSTAL SERVICE STATEMENT OF MAILING WEIGHING AND DISPATCH CERTIFICATE

STATEMENT 57795

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 09/21	CLASS St. Iail	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.1430	TOTAL PIECES 15,676	TOTAL POUNDS 2,241.6680	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		DOSTITATION OF THE PROPERTY OF	
PALLETS	INSERTS:0	NORTHERN CALIFORNIA EDITION	
4		NORTHERN CALIFORNIA EDITION	
VERIFICATION SUMMARY: No verification errors.		DENIAL	
SIG ATU	JL -	R DELIN	VERS!
VEIGHER	DATA PROCESSED BY	RECEIVED FOR	PROCESSING BY
COMMENTS: DENTAL	ΓRADER		

September 2021



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 57780

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 08/21	CLASS Stand Mail	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.2575 pounds	TOTAL PIECES 23,975	TOTAL POUNDS 6,173.5625	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		postr	
PALLETS 11	INSERTS:1 Xcel Seminar	SOUTHERN CALIFOR	NIA EDITION
VERIFICATION SUMMARY: No verification errors.		DELATION	FRS!
TRA	DER	DELIV	Euo.
SIGNATURE OF	JL DATA PROCESSED BY	RECEIVED FOR PRO	DCESSING BY
COMMENTS: DENTAL T	RADER		



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 57781

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 08/21	CLASS St. Sil	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.1510	TOTAL PIECES 15,681	TOTAL POUNDS 2,367.8310	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		postri)	
PALLETS 4	INSERTS:1 Xcel Seminar	NORTHERN CALIFORNIA EDITION	
VERIFICATION SUMMARY No verification errors.		DENIA	
SIG ATU	JL.	3 DELI	VER5!
VEIGHER	DATA PROCESSED BY	RECEIVED FOR	PROCESSING BY
COMMENTS: DENTAL 1	FRADER		

August 2021



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 57762

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 07/21	CLASS Stand Mail	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.2535 pounds	TOTAL PIECES 23,977	TOTAL POUNDS 6,078.1695	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		postr	
PALLETS 12	INSERTS:1 Xcel Seminar	SOUTHERN CALIFOR	NIA EDITION
VERIFICATION SUMMARY: No verification errors.		DELATION	FRS!
TRA	DER	DELIV	Eno.
SIGNATURE OF	JL DATA PROCESSED BY	RECEIVED FOR PRO	DCESSING BY
COMMENTS: DENTAL T	RADER		



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 57763

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 07/21	CLASS St. Sil	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.1640	TOTAL PIECES 15,681	TOTAL POUNDS 2,571.6840	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		post	
PALLETS 5	INSERTS:1 Xcel Seminar	NORTHERN CALIFORNIA EDITION	
VERIFICATION SUMMARY: No verification errors.		DENIA	
SIG ATU VEIGH R	DATA PROCESSED BY		VERS!
COMMENTS: DENTAL TRADER			
John Marie San Inc			

June 2021



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 57735

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 05/21	CLASS Stand Mail	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.2900 pounds	TOTAL PIECES 23,988	TOTAL POUNDS 6,956.5200	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		positi	
PALLETS 12	INSERTS:3 Xcel Seminar, CIDE & Success For Life	SOUTHERN CALLFOR	NIA EDITION
VERIFICATION SUMMARY: No verification errors.		DEIA	FRS!
TRA	DER	DELIV	Euo.
SIGNATURE OF	JL DATA PROCESSED BY	RECEIVED FOR PRO	DCESSING BY
COMMENTS: DENTAL T	RADER		



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 57734

GUARANTEED CIRCULATION

PERMIT NO: 94 SAN DIEGO BULK MAIL STATION OR UNIT: **DATE OF MAILING CLASS** TYPE **PROC CAT** 05/21 Flat ΡI **Customer Reference ID WEIGHT OF SINGLE** TOTAL POUNDS N/A PIECE (LBS) 3,004.2520 CAPS Asset No: _ 0.1915 MAILED FOR: PERMIT NO. NAME: **INSERTS:3 PALLETS** NORTHERN CALIFORNIA EDITION Xcel Seminar, CIDE & 5 Success For Life R DELIVERS **VERIFICATION SUMMARY:** No verification errors. DATA PROCESSED BY RECEIVED FOR PROCESSING BY COMMENTS: DENTAL TRADER

May 2021



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 57719

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 04/21	CLASS Stand Mail	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.2460 pounds	TOTAL PIECES 23,991	TOTAL POUNDS 5,901.7860	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO.		positi	
PALLETS 11	INSERTS:1 XCEL SEMINARS	SOUTHERN CALIFOR	NIA EDITION
VERIFICATION SUMMARY No verification errors. SIGNATURE OF THE OF T	DER JL DATA PROCESSED BY	DELIVED FOR PRO	ERS!
COMMENTS: DENTAL T	RADER		



Restricted Information

3602

POSTAL SERVICE STATEMENT OF MAILING WEIGHING AND DISPATCH CERTIFICATE

STATEMENT 57721

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 04/21	CLASS St. Iail	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.1530	TOTAL PIECES 15,691	TOTAL POUNDS 2,400.7230	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		positi	
PALLETS 9	INSERTS:1 XCEL SEMINARS	NORTHERN CALIFORNIA EDITION	
VERIFICATION SUMMARY: No verification errors.		DENIA	
SIG ATU	DATA PROCESSED BY		
v lan	DATA PROCESSED DI	RECEIVED FOR	PROCESSING BY
COMMENTS: DENTAL 1	RADER		

April 2021



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 57698

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 03/21	CLASS Stand Mail	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.3630 pounds	TOTAL PIECES 23,997	TOTAL POUNDS 8,710.9110	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		postr	
CONTAINERS 13	INSERTS:2 XCEL SEMINARS AND PEARSON DENTAL	SOUTHERN CALIFOR	NIA EDITION
VERIFICATION SUMMARY No verification errors.	THE	DELIV	ERS!
SIC ATU E O WEIGHER	JL DATA PROCESSED BY	RECEIVED FOR PRO	OCESSING BY
COMMENTS: DENTAL T	RADER		



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 57697

GUARANTEED CIRCULATION

PERMIT NO: 94 SAN DIEGO BULK MAIL STATION OR UNIT: **DATE OF MAILING CLASS** TYPE **PROC CAT** 03/21 Flat ΡI **Customer Reference ID WEIGHT OF SINGLE TOTAL POUNDS** N/A PIECE (LBS) 4,214.6445 CAPS Asset No: _ 0.2685 MAILED FOR: PERMIT NO. NAME: **INSERTS:2 CONTAINERS** XCEL SEMINARS AND NORTHERN CALIFORNIA EDITION 8 PEARSON DENTAL R DELIVERS **VERIFICATION SUMMARY:** No verification errors. DATA PROCESSED BY RECEIVED FOR PROCESSING BY COMMENTS: DENTAL TRADER

March 2021



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 57686

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 02/21	CLASS Stand Mail	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.2610 pounds	TOTAL PIECES 23,997	TOTAL POUNDS 6,263.2170	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		postr	
CONTAINERS 11	INSERTS:1 CIDE	SOUTHERN CALIFOR	NIA EDITION
VERIFICATION SUMMARY No verification errors. SIG LATULE O	THE DER	DELIV RECEIVED FOR PRO	ERS!
COMMENTS: DENTAL T			



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 57687

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 02/21	CLASS St. Sil	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.1350	TOTAL PIECES 15,698	TOTAL POUNDS 2,119.2300	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		post	
CONTAINERS 4	INSERTS:1 CIDE	NORTHERN CALIFORNIA EDITION	
VERIFICATION SUMMARY: No verification errors.		DENIA	
SIG ATU Visigh R	DE DATA PROCESSED BY		VERS!
COMMENTS: DENTAL	TRADER	THE SERVED TO THE	
COMMENTS: DENTAL	INAVEN		

February 2021



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 57672

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 01/21	CLASS Stand Mail	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.2610 pounds	TOTAL PIECES 24,001	TOTAL POUNDS 6,264.2610	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		positi	
CONTAINERS 11	INSERTS:2 Xcel Seminars and CIDE	SOUTHERN CALIFOR	NIA EDITION
VERIFICATION SUMMARY No verification errors.	THE		ERS!
WEIGHER	DATA PROCESSED BY	RECEIVED FOR PRO	CESSING BY
COMMENTS: DENTAL T	RADER		



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 57673

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 01/21	CLASS St lail	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.1565	TOTAL PIECES 15,700	TOTAL POUNDS 2,457.0500	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		post	
CONTAINERS 11	INSERTS:2 CIDE and Xcel Seminars	NORTHERN CALIFORNIA EDITION	
VERIFICATION SUMMARY: No verification errors.		DENIA	
SIG ATURN DATA PROCESSED BY RECEIVED FOR PROCESSING BY			
- DENITAL			
COMMENTS: DENTAL	IKADER		

January 2021



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 57655

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 01/21	CLASS Stand Mail	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.2390 pounds	TOTAL PIECES 23,495	TOTAL POUNDS 5,615.3050	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		positi	
CONTAINERS 11	INSERTS:3 Xcel Seminars	SOUTHERN CALLFOR	NIA EDITION
VERIFICATION SUMMARY No verification errors.	THE	DEIAI	FRS!
TRA	DER	DELIV	Eno.
SIGNATURE OF	JL DATA PROCESSED BY	RECEIVED FOR PRO	OCESSING BY
COMMENTS: DENTAL T	RADER		



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 57657

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94	
DATE OF MAILING 01/21	CLASS St. Sil	PROC CAT Flat	TYPE PI	
WEIGHT OF SINGLE PIECE (LBS) 0.1370	TOTAL PIECES 15,388	TOTAL POUNDS 2,108.1560	Customer Reference ID N/A CAPS Asset No:	
MAILED FOR: PERMIT NO. NAME:		positi		
CONTAINERS 9	INSERTS:3 Xcel Seminars	NORTHERN CALIFORNIA EDITION		
VERIFICATION SUMMARY: No verification errors.		DENIA	DENIAL	
SIG ATU	JL.	3 DELI	VER5!	
VEIGHER	DATA PROCESSED BY	RECEIVED FOR	PROCESSING BY	
COMMENTS: DENTAL 1	FRADER			

December 2020



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 57637

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 11/20	CLASS Stand Mail	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.4985 pounds	TOTAL PIECES 23,605	TOTAL POUNDS 11,767.0925	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		postr	
CONTAINERS 17	INSERTS:3 Pearson Dental, Xcel Seminars and Dental Trader 2021 Calendar	SOUTHERN CALIFOR	NIA EDITION
VERIFICATION SUMMARY No verification errors.	THE	DELIV	ERS!
SIGNATURE OF	JL DATA PROCESSED BY	RECEIVED FOR PRO	OCESSING BY
COMMENTS: DENTAL T	RADER		



Restricted Information

3602

POSTAL SERVICE STATEMENT OF MAILING WEIGHING AND DISPATCH CERTIFICATE

STATEMENT 57638

GUARANTEED CIRCULATION

PERMIT NO: 94 SAN DIEGO BULK MAIL STATION OR UNIT: **DATE OF MAILING CLASS** TYPE **PROC CAT** 11/20 Flat ΡI **Customer Reference ID WEIGHT OF SINGLE** TOTAL POUNDS N/A PIECE (LBS) 6,077.1555 CAPS Asset No: _ 0.3965 MAILED FOR: PERMIT NO. NAME: **CONTAINERS** INSERTS:3 Xcel Seminars. Pearson 10 Dental and Dental Trader 2021 Calendar R DELIVERS **VERIFICATION SUMMARY:** No verification errors. DATA PROCESSED BY RECEIVED FOR PROCESSING BY COMMENTS: DENTAL TRADER

November 2020



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 57597

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 10/22	CLASS Stand Mail	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.3100 pounds	TOTAL PIECES 23,609	TOTAL POUNDS 7,318.7900	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		postr	
CONTAINERS 12	INSERTS:3 Cal. Inst. of Education, Pearson Dental, Mostashari & Assoc.	SOUTHERN CALIFOR	NIA EDITION
VERIFICATION SUMMARY No verification errors.	DER	DELIV	ERS!
SIGNATURE OF	JL DATA PROCESSED BY	RECEIVED FOR PRO	OCESSING BY
COMMENTS: DENTAL T	RADER		



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 57598

GUARANTEED CIRCULATION

PERMIT NO: 94 SAN DIEGO BULK MAIL STATION OR UNIT: DATE OF MAILING **CLASS** TYPE **PROC CAT** 10/22 Flat ΡI **Customer Reference ID WEIGHT OF SINGLE TOTAL POUNDS** N/A PIECE (LBS) 2,964.1150 CAPS Asset No: _ 0.1925 MAILED FOR: PERMIT NO. NAME: **CONTAINERS INSERTS:2** NORTHERN CALIFORNIA EDITION Cal. Inst. of Education. Pearson Dental R DELIVERS **VERIFICATION SUMMARY:** No verification errors. DATA PROCESSED BY RECEIVED FOR PROCESSING BY COMMENTS: DENTAL TRADER

October 2020



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 57500

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 9/25	CLASS Stand Mail	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.2790 pounds	TOTAL PIECES 23,613	TOTAL POUNDS 6,588.0270	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		postr	
CONTAINERS 11	INSERTS:2 XCEL Seminars CA Institute of Education	SOUTHERN CALIFOR	NIA EDITION
VERIFICATION SUMMARY No verification errors.	THE	DELIV	ERS!
SIGNATURE OF WEIGHER	JL DATA PROCESSED BY	RECEIVED FOR PRO	OCESSING BY
COMMENTS: DENTAL T	RADER		



Restricted Information

3602

POSTAL SERVICE STATEMENT OF MAILING WEIGHING AND DISPATCH CERTIFICATE

STATEMENT 57498

GUARANTEED CIRCULATION

PERMIT NO: 94 SAN DIEGO BULK MAIL STATION OR UNIT: DATE OF MAILING **CLASS** TYPE **PROC CAT** 9/25 ы Flat **Customer Reference ID WEIGHT OF SINGLE TOTAL POUNDS** N/A PIECE (LBS) 2,387.0000 CAPS Asset No: _ 0.1550 MAILED FOR: PERMIT NO. NAME: **INSERTS:2 CONTAINERS** CA Institute of Education 4 **XCEL Seminars** RDELIVERS **VERIFICATION SUMMARY:** No verification errors. DATA PROCESSED BY RECEIVED FOR PROCESSING BY COMMENTS: DENTAL TRADER

September 2020



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 57480

STATION OR UNIT:	SAN DIEGO BULK	(MAIL	PERMIT NO: 94
DATE OF MAILING 8/27	CLASS Stand Mail	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.2990	TOTAL PIECES 23,618	TOTAL POUNDS 7,061.7820	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		DOST	
CONTAINERS 12	INSERTS:3 Surgical DDS360 Cornerstone Training Inst. Esthetic Professionals	SOUTHERN CALIFOR	NIA EDITION
VERIFICATION SUMMARY No verification errors.	THE	DEIA	EDS!
SIGNATULE O	DER JL DATA PROCESSED BY	DELIV RECEIVED FOR PRO	OCESSING BY
COMMENTS: DENTAL T	RADER		



Restricted Information

3602

POSTAL SERVICE STATEMENT OF MAILING WEIGHING AND DISPATCH CERTIFICATE

STATEMENT 57481

GUARANTEED CIRCULATION

PERMIT NO: 94 SAN DIEGO BULK MAIL STATION OR UNIT: DATE OF MAILING **CLASS** TYPE **PROC CAT** 8/27 Flat ы **Customer Reference ID WEIGHT OF SINGLE TOTAL POUNDS** N/A PIECE (LBS) 2,425.8150 CAPS Asset No: _ 0.1575 MAILED FOR: PERMIT NO. NAME: **INSERTS:2** DENTAL R DELIVERS! **CONTAINERS** Cornerstone Training Inst. 4 Esthetic Professionals **VERIFICATION SUMMARY:** No verification errors. RECEIVED FOR PROCESSING BY COMMENTS: DENTAL TRADER

August 2020



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 57472

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 7/20	CLASS Stand Mail	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.2600	TOTAL PIECES 23,612	TOTAL POUNDS 6,139.1200	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		positi	
CONTAINERS 11	INSERTS:1 Esthetic Professionals	SOUTHERN CALIFOR	NIA EDITION
VERIFICATION SUMMARY No verification errors.	THE	DELIV	ERS!
SICHATURE OF WEIGHER	JL DATA PROCESSED BY	RECEIVED FOR PRO	OCESSING BY
COMMENTS: DENTAL T	RADER		



Restricted Information

3602

POSTAL SERVICE STATEMENT OF MAILING WEIGHING AND DISPATCH CERTIFICATE

STATEMENT 57473

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 7/20	CLASS St Sil	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.1380	TOTAL PIECES 15,406	TOTAL POUNDS 2,126.0280	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		postra)	
CONTAINERS 4	INSERTS:1 Esthetic Professionals	NORTHERN CALIFORNIA EDITION	
VERIFICATION SUMMARY: No verification errors.		DENTA	
SIG ATU	OL -	2 DELIV	VERS!
VEIGHT	DATA PROCESSED BY	RECEIVED FOR PROCESSING BY	
COMMENTS: DENTAL 1	FRADER		

June 2020



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 57456

	_		
STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 5/20	CLASS Stand Mail	PROC CAT Flat	TYPE Pl
WEIGHT OF SINGLE PIECE (LBS) 0.2330	TOTAL PIECES 23,618	TOTAL POUNDS 5,502.9940	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		postr	
CONTAINERS 12	INSERTS:	SOUTHERN CALIFOR	VIA EDITION
VERIFICATION SUMMARY No verification errors.	THE	DEIAIL	ERS!
TRA	DEP	DELIV	Eno.
SIGNATURE ON WEIGHER	JL DATA PROCESSED BY	RECEIVED FOR PRO	DCESSING BY
COMMENTS: DENTAL 1	TRADER		



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 57457

GUARANTEED CIRCULATION **PERMIT NO: 94** SAN DIEGO BULK MAIL STATION OR UNIT: DATE OF MAILING **CLASS** TYPE **PROC CAT** 5/20 ы Flat **Customer Reference ID WEIGHT OF SINGLE TOTAL POUNDS** N/A PIECE (LBS) 1,988.1480 CAPS Asset No: _ 0.1290 MAILED FOR: PERMIT NO. NAME: **INSERTS: CONTAINERS** NORTHERN CALIFORNIA EDITION 5 DENIAL R DELIVERS **VERIFICATION SUMMARY:** No verification errors. RECEIVED FOR PROCESSING BY COMMENTS: DENTAL TRADER

May 2020



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 57446

94
ence ID
1
•



Restricted Information

3602

POSTAL SERVICE STATEMENT OF MAILING WEIGHING AND DISPATCH CERTIFICATE

STATEMENT 57447

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 4/20	CLASS St. Sil	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.1315	TOTAL PIECES 15,408	TOTAL POUNDS 2,026.1520	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		post	
CONTAINERS 5	INSERTS:	NORTHERN CALIFORNIA EDITION	
VERIFICATION SUMMARY: No verification errors.		DENIA	1 - O L
SIG ATU VEIGH R	DATA PROCESSED BY	RECEIVED FOR PROCESSING BY	
COMMENTS: DENTAL	 		

April 2020



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 57437

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 3/20	CLASS Stand Mail	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.2885	TOTAL PIECES 23,613	TOTAL POUNDS 6,812.33505	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		postr	
CONTAINERS 13	INSERTS: 2 PRICENEX, PINHOLE	SOUTHERN CALIFOR	IIA EDITION
VERIFICATION SUMMARY No verification errors.	TUF	DEMIL	ERS!
SIC ATU E O	DEP	DELIV	
WEIGHER	DATA PROCESSED BY	RECEIVED FOR PRO	CESSING BY
COMMENTS: DENTAL 1	RADER		



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 57438

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 3/20	CLASS St. Sil	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.1830	TOTAL PIECES	TOTAL POUNDS 2,819.8470	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		postra)	
CONTAINERS 12	INSERTS: 2 PRICENEX, XCEL	NORTHERN CALIFORNIA EDITION	
VERIFICATION SUMMAR' No verification errors.	Y:	DENIA	1 - OL
SIG ATU		2 DELI	VERS!
V EIGH R	DATA PROCESSED BY	RECEIVED FOR PROCESSING BY	
COMMENTS: DENTAL 1	FRADER		

March 2020



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 57413

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 2/20	CLASS Stand Mail	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.2645	TOTAL PIECES 23,612	TOTAL POUNDS 6,245.3740	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		postr	
CONTAINERS 13	INSERTS: 2 CORNERSTONE TRAINING	SOUTHERN CALIFOR	IIA EDITION
VERIFICATION SUMMARY No verification errors.	THE	DEIAIL	FDGI
SIC LATU E O	DEP	DELIV	ERS!
WEIGHER	DATA PROCESSED BY	NECEIVED FOR FRO	OCESSING BY
COMMENTS: DENTAL 1	RADER		



COMMENTS: DENTAL TRADER

Restricted Information

3602

POSTAL SERVICE STATEMENT OF MAILING WEIGHING AND DISPATCH CERTIFICATE

STATEMENT 57414

GUARANTEED CIRCULATION **PERMIT NO: 94** SAN DIEGO BULK MAIL STATION OR UNIT: DATE OF MAILING **CLASS** TYPE **PROC CAT** 2/20 ы Flat **Customer Reference ID WEIGHT OF SINGLE TOTAL POUNDS** N/A PIECE (LBS) 2,627.7460 CAPS Asset No: _ 0.1705 MAILED FOR: PERMIT NO. NAME: **INSERTS: 1 CONTAINERS** XCEL NORTHERN CALIFORNIA EDITION DENIAL R DELIVERS 14 **VERIFICATION SUMMARY:** No verification errors. RECEIVED FOR PROCESSING BY

February 2020



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 57347

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 1/20	CLASS Stand Mail	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.2690	TOTAL PIECES 21,421	TOTAL POUNDS 5,762.2490	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		postr	
CONTAINERS 12	INSERTS: 2 XCEL, BINAI	SOUTHERN CALIFOR	IIA EDITION
VERIFICATION SUMMARY No verification errors.	TUF	DEMIL	ERS!
SIC ATU E C	DEP		
WEIGHER	DATA PROCESSED BY	RECEIVED FOR PRO	CESSING BY
COMMENTS: DENTAL T	RADER		



Restricted Information

3602

POSTAL SERVICE STATEMENT OF MAILING WEIGHING AND DISPATCH CERTIFICATE

STATEMENT 57349

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 1/20	CLASS St. Sil	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.1460	TOTAL PIECES	TOTAL POUNDS 2,053.3440	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		DOSTITATION OF THE PROPERTY OF	
CONTAINERS 12	INSERTS: 1 XCEL	NORTHERN CALIFORNIA EDITION	
VERIFICATION SUMMAR No verification errors.	Y:	DENIAL	
SIG ATU		DEN'	VERS!
VEIGHER	DATA PROCESSED BY	RECEIVED FOR	PROCESSING BY
COMMENTS: DENTAL	TRADER		

January 2020



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 57327

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 12/19	CLASS Stand Mail	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.3000	TOTAL PIECES 21,507	TOTAL POUNDS 6,452.1000	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		positi	
CONTAINERS 12	INSERTS: 2 XCEL, INDIAN DENTAL	SOUTHERN CALIFORNIA EDITION	
VERIFICATION SUMMARY No verification errors.	THE	DEMIL	ERS!
SIC ATL E O	DEP	DELIV	
WEIGHER	DATA PROCESSED BY		
COMMENTS: DENTAL T	KAUEK		



Restricted Information

3602

POSTAL SERVICE STATEMENT OF MAILING WEIGHING AND DISPATCH CERTIFICATE

STATEMENT 57329

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 12/20	CLASS St. Sil	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.1500e	TOTAL PIECES 14,085	TOTAL POUNDS 2,109.7500	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		postri)	
CONTAINERS 12	INSERTS: 1 XCEL	NORTHERN CALIFORNIA EDITION	
VERIFICATION SUMMAR No verification errors.		DENIA	1L
SIG ATU DATA PROCESSED BY RECEIVED FOR PROCESSING BY			
COMMENTS: DENTAL	TRADER		

December 2019



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 57298

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 11/19	CLASS Stand Mail	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.4335	TOTAL PIECES 21,514	TOTAL POUNDS 9,326.3190	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		posts	
CONTAINERS 14	INSERTS: 2 XCEL, 4M	SOUTHERN CALIFORNIA EDITION	
VERIFICATION SUMMARY: No verification errors.		DEMIL	ERS!
SIC ATU E O	DER JL DATA PROCESSED BY	DELIV RECEIVED FOR PRO	
COMMENTS: DENTAL T			



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 57299

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 11/19	CLASS St. Sil	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.3000	TOTAL PIECES 14,083	TOTAL POUNDS 4,218.9000	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		DOSTITATION OF THE PROPERTY OF	
CONTAINERS 7	INSERTS: 2 XCEL, 4M	NORTHERN CALIFORNIA EDITION	
VERIFICATION SUMMARY No verification errors.	Y:	DENIA	1 - O
SIG ATU		R DELI	VERS!
VEIGHER	DATA PROCESSED BY	RECEIVED FOR	PROCESSING BY
COMMENTS: DENTAL T	FRADER		

November 2019



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 57273

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 10/19	CLASS Stand Mail	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.3000	TOTAL PIECES 21,520	TOTAL POUNDS 6,456.0000	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		posts	
CONTAINERS 12	INSERTS: 2 XCEL, 4M	SOUTHERN CALIFORNIA EDITION	
VERIFICATION SUMMARY: No verification errors. SIGNATURE OF THE DATA PROCESSED BY		DELIV DELIV	ERS!
COMMENTS: DENTAL T	RADER		



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 57274

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 10/19	CLASS St. Iail	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.1670	TOTAL PIECES 14,067	TOTAL POUNDS 2,349.1890	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		postri)	
CONTAINERS 12	INSERTS: 2 XCEL, 4M	NORTHERN CALIFORNIA EDITION	
VERIFICATION SUMMARY No verification errors.	Y:	DENIA	11-01-
No verification errors. SIG ATURA DATA PROCESSED BY			
v lan	DATA PROCESSED DI	RECEIVED FOR	PROCESSING BY
COMMENTS: DENTAL	IRADER		

October 2019



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 57251

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 9/19	CLASS Stand Mail	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.2970	TOTAL PIECES 21,532	TOTAL POUNDS 6,395.0040	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO.		postra)	
CONTAINERS 12	INSERTS: 2 BENA DENTAL INSTITUTE, XCEL SEMINARS	SOUTHERN CALIFORNIA EDITION	
VERIFICATION SUMMARY: No verification errors.		DEIAIL	ERS!
SIC ATUE O	DEP		
WEIGHER	DATA PROCESSED BY	RECEIVED FOR PROCESSING BY	
COMMENTS: DENTAL 1	RADER		



Restricted Information

3602

POSTAL SERVICE STATEMENT OF MAILING WEIGHING AND DISPATCH CERTIFICATE

STATEMENT 57253

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 9/19	CLASS St. Sil	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.1645	TOTAL PIECES 14,070	TOTAL POUNDS 2,314.5150	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		DOSTITATION OF THE PROPERTY OF	
CONTAINERS 13	INSERTS: 1 XCEL SEMINARS	NORTHERN CALIFORNIA EDITION	
VERIFICATION SUMMAR' No verification errors.		DENIA	11-01-
SIG ATU		R DELI	VER5!
VEIGHER	DATA PROCESSED BY	RECEIVED FOR PROCESSING BY	
COMMENTS: DENTAL 1	FRADER		

September 2019



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 57229

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 8/19	CLASS Stand Mail	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.2810	TOTAL PIECES 21,532	TOTAL POUNDS 6,050.4920	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		postra)	
CONTAINERS 12	INSERTS: 1 XCEL SEMINARS	SOUTHERN CALIFORNIA EDITION	
VERIFICATION SUMMARY No verification errors.	THE	DEMIL	ERS!
SIG ATUE O	DEP	DELIV	
WEIGHER	JL DATA PROCESSED BY	RECEIVED FOR PROCESSING BY	
COMMENTS: DENTAL T	RADER		



Restricted Information

3602

POSTAL SERVICE STATEMENT OF MAILING WEIGHING AND DISPATCH CERTIFICATE

STATEMENT 57230

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 8/19	CLASS St. Sil	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.1645	TOTAL PIECES 14,077	TOTAL POUNDS 2,315.6665	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		DOSTITATION OF THE PROPERTY OF	
CONTAINERS 14	INSERTS: 1 XCEL SEMINARS	NORTHERN CALIFORNIA EDITION	
VERIFICATION SUMMARY: No verification errors.		DENIA	11-01-
SIG ATU		R DELI	VERS!
V EIGH R	DATA PROCESSED BY	RECEIVED FOR PROCESSING BY	
COMMENTS: DENTAL 1	FRADER		

August 2019



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 57199

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 7/19	CLASS Stand Mail	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.2815	TOTAL PIECES 21,534	TOTAL POUNDS 6,061.8210	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO.		postri)	
CONTAINERS 12	INSERTS: 1 XCEL SEMINARS	SOUTHERN CALIFORNIA EDITION	
VERIFICATION SUMMARY: No verification errors.		DEMIL	ERS!
SIC ATU E O	DEP	DELIV	EnJ.
WEIGHER	DATA PROCESSED BY	RECEIVED FOR PROCESSING BY	
COMMENTS: DENTAL 1	RADER		



Restricted Information

3602

POSTAL SERVICE STATEMENT OF MAILING WEIGHING AND DISPATCH CERTIFICATE

STATEMENT 57200

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 7/19	CLASS St. Sil	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.1860	TOTAL PIECES 14,083	TOTAL POUNDS 2,619.4380	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		DOSTINI)	
CONTAINERS 14	INSERTS: 2 DENTIMAX, XCEL SEMINARS	NORTHERN CALIFORNIA EDITION	
VERIFICATION SUMMARY: No verification errors.		DENIA	
SIG ATU	L -	R DELI	VER5!
VEIGHER	DATA PROCESSED BY	RECEIVED FOR PROCESSING BY	
COMMENTS: DENTAL	FRADER		

June 2019



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 57166

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 5/19	CLASS Stand Mail	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.3200	TOTAL PIECES 19,505	TOTAL POUNDS 6,241.6000	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		postri)	
CONTAINERS 12	INSERTS: 2 XCEL SEMINARS, 4M	SOUTHERN CALIFORNIA EDITION	
VERIFICATION SUMMARY No verification errors.	THE	DENIA	ERS!
SIC ATU E O	DEF JL DATA PROCESSED BY	RECEIVED FOR PRO	
COMMENTS: DENTAL T	RADER		



Restricted Information

3602

POSTAL SERVICE STATEMENT OF MAILING WEIGHING AND DISPATCH CERTIFICATE

STATEMENT 57167

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 5/19	CLASS St. Sil	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.1860	TOTAL PIECES 12,822	TOTAL POUNDS 2,384.8920	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		DOSTIAI)	
CONTAINERS 6	INSERTS: 2 XCEL SEMINARS, 4M	NORTHERN CALIFORNIA EDITION	
VERIFICATION SUMMARY: No verification errors.		DENIA	1 - OL
SIG ATU		3 DELI	VERS!
VEIGH R	DATA PROCESSED BY	RECEIVED FOR PROCESSING BY	
COMMENTS: DENTAL 1	IRADER		

May 2019



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 57150

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 4/19	CLASS Stand Mail	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.3030	TOTAL PIECES 19,511	TOTAL POUNDS 5,911.8330	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		postr	
CONTAINERS 12	INSERTS: XCEL SEMINARS, 4M	SOUTHERN CALIFORNIA EDITION	
VERIFICATION SUMMARY No verification errors. SIGNATURE OF THE OF T	THE DEF	BECEIVED FOR PROCESSING BY	
COMMENTS: DENTAL T	RADER		



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 57151

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 4/19	CLASS St. Sil	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.1730	TOTAL PIECES 12,827	TOTAL POUNDS 2,219.0710	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		postiki)	
CONTAINERS 15	INSERTS: XCEL SEMINARS, 4M	NORTHERN CALIFORNIA EDITION	
VERIFICATION SUMMARY: No verification errors.		DENIA	11-01-
SIG ATU		2 DELI	VER5!
VEIGHTR DATA PROCESSED BY		RECEIVED FOR PROCESSING BY	
COMMENTS: DENTAL 1	FRADER		

April 2019



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 57132

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 3/19	CLASS Stand Mail	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.3030	TOTAL PIECES 19,512	TOTAL POUNDS 5,912.1360	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		postr	
CONTAINERS 12	INSERTS: XCEL SEMINARS, 4M	SOUTHERN CALIFORNIA EDITION	
VERIFICATION SUMMARY No verification errors. SIGNATURE OF THE OF T	THE DEF	BECEIVED FOR PROCESSING BY	
COMMENTS: DENTAL T	RADER		



Restricted Information

3602

POSTAL SERVICE STATEMENT OF MAILING WEIGHING AND DISPATCH CERTIFICATE

STATEMENT 57133

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 3/19	CLASS St. Sil	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.1725	TOTAL PIECES 12,839	TOTAL POUNDS 2,214.7275	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		postiki)	
CONTAINERS 13	INSERTS: XCEL SEMINARS, 4M	NORTHERN CALIFORNIA EDITION	
VERIFICATION SUMMARY: No verification errors.		DENIA	11-01-
SIG ATU		2 DELI	VERS!
VEIGHER DATA PROCESSED BY		RECEIVED FOR PROCESSING BY	
COMMENTS: DENTAL 1	FRADER		

March 2019



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 57109

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 2/19	CLASS Stand Mail	PROC CAT Flat	TYPE Pl
WEIGHT OF SINGLE PIECE (LBS) 0.2750	TOTAL PIECES 19,516	TOTAL POUNDS 5,366.9000	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		postr	
CONTAINERS 12	INSERTS: XCEL SEMINARS	SOUTHERN CALIFORNIA EDITION	
VERIFICATION SUMMARY: No verification errors.		DEIAIL	ERS!
SIC ATU E O	DEP		
WEIGHER	DATA PROCESSED BY	RECEIVED FOR PROCESSING BY	
COMMENTS: DENTAL T	RADER		



Restricted Information

3602

POSTAL SERVICE STATEMENT OF MAILING WEIGHING AND DISPATCH CERTIFICATE

STATEMENT 57110

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 2/19	CLASS St. St.	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.1520	TOTAL PIECES 12,839	TOTAL POUNDS 1,951.5280	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		DOSTITATION OF THE PROPERTY OF	
CONTAINERS 5	INSERTS: 1 XCEL SEMINARS	NORTHERN CALIFORNIA EDITION	
VERIFICATION SUMMAR No verification errors.	Y:	DENIA	
SIG ATU	L '	3 DELI	VERS!
DATA PROCESSED BY RECEIVED FOR PE		PROCESSING BY	
COMMENTS: DENTAL	TRADER		

February 2019



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 57091

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 1/19	CLASS Stand Mail	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.2235	TOTAL PIECES 19,506	TOTAL POUNDS 4,359.5910	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		postri)	
CONTAINERS 11	INSERTS:	SOUTHERN CALIFORNIA EDITION	
VERIFICATION SUMMARY: No verification errors.		DEIAIL	ERS!
SIC ATUE O	DEP		
WEIGHER	DATA PROCESSED BY	RECEIVED FOR PROCESSING BY	
COMMENTS: DENTAL T	RADER		



Restricted Information

3602

POSTAL SERVICE STATEMENT OF MAILING WEIGHING AND DISPATCH CERTIFICATE

STATEMENT 57092

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 1/19	CLASS St. Sil	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.1520	TOTAL PIECES 12,847	TOTAL POUNDS 1,952.7440	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		postri)	
CONTAINERS 5	INSERTS: 1 XCEL SEMINARS	NORTHERN CALIFORNIA EDITION	
VERIFICATION SUMMARY: No verification errors.		DENIA	11-01-
SIG ATU		2 DELI	VER5!
VEIGHER DATA PROCESSED BY		RECEIVED FOR	PROCESSING BY
COMMENTS: DENTAL T	FRADER		

January 2019



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 57077

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 12/18	CLASS Stand Mail	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.2600	TOTAL PIECES 19,508	TOTAL POUNDS 5,072.0800	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		DOSTIN	
CONTAINERS 12	INSERTS: 1 XCEL SEMINARS	SOUTHERN CALIFORNIA EDITION	
VERIFICATION SUMMARY: No verification errors.		DEIAIL	ERS!
SIC ATU E O	DEP		
WEIGHER	DATA PROCESSED BY	RECEIVED FOR PROCESSING BY	
COMMENTS: DENTAL 1	RADER		



Restricted Information

3602

POSTAL SERVICE STATEMENT OF MAILING WEIGHING AND DISPATCH CERTIFICATE

STATEMENT 57078

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 12/18	CLASS St Sil	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.1510	TOTAL PIECES 12,845	TOTAL POUNDS 1,939.5950	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		postra)	
CONTAINERS 5	INSERTS: 1 XCEL SEMINARS	NORTHERN CALIFORNIA EDITION	
VERIFICATION SUMMAR' No verification errors.		DENIA	11-01-
SIG ATU		R DELI	VERS!
VEIGHER	DATA PROCESSED BY	RECEIVED FOR PROCESSING BY	
COMMENTS: DENTAL 1	FRADER		

December 2018



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 57054

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 11/18	CLASS Stand Mail	PROC CAT Flat	TYPE Pl
WEIGHT OF SINGLE PIECE (LBS) 0.4015	TOTAL PIECES 19,505	TOTAL POUNDS 7,831.2575	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		postr	
CONTAINERS 14	INSERTS: 2 XCEL SEMINARS, DT2019 CALLENDAR	SOUTHERN CALIFORNIA EDITION	
VERIFICATION SUMMARY: No verification errors.		DEIAIL	ERS!
TRA	DEP	DELIV	EnJ.
SIGNATURE ON WEIGHER	JL DATA PROCESSED BY	RECEIVED FOR PROCESSING BY	
COMMENTS: DENTAL T	RADER		



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 57055

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 11/18	CLASS St Sil	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.3250	TOTAL PIECES 12,846	TOTAL POUNDS 4,174.9500	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		postri)	
CONTAINERS 7	INSERTS: 2 XCEL SEMINARS, DT 2019 CALENDAR	NORTHERN CALIFORNIA EDITION	
VERIFICATION SUMMARY: No verification errors.		DENIA	11-01
SIG ATU	DL -	R DELI	VER5!
VEIGHER	DATA PROCESSED BY	RECEIVED FOR PROCESSING BY	
COMMENTS: DENTAL	FRADER		

November 2018



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 56985

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 10/18	CLASS Stand Mail	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.3030	TOTAL PIECES 19,501	TOTAL POUNDS 5,908.8030	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		postr	
CONTAINERS 12	INSERTS: 2 PEARSON DENTAL, XCEL SEMINARS	SOUTHERN CALIFORNIA EDITION	
VERIFICATION SUMMARY No verification errors.	THE	DEIAIL	ERS!
TRA	DEP	DELIV	Enoi
SIGNATURE OF WEIGHER	JL DATA PROCESSED BY	RECEIVED FOR PROCESSING BY	
COMMENTS: DENTAL T	RADER		



Restricted Information

3602

POSTAL SERVICE STATEMENT OF MAILING WEIGHING AND DISPATCH CERTIFICATE

STATEMENT 56993

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 10/18	CLASS St. Sil	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.1780	TOTAL PIECES 12,847	TOTAL POUNDS 2,286.7660	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		postiki)	
CONTAINERS 12	INSERTS: 2 PEARSON DENTAL, XCEL SEMINARS	NORTHERN CALIFORNIA EDITION	
VERIFICATION SUMMARY: No verification errors.		DENIA	11-01-
SIG ATU VEIGH R	DATA PROCESSED BY	DELI	PROCESSING BY
COMMENTS: DENTAL TRADER			

October 2018



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 56928

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 9/18	CLASS Stand Mail	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.2780	TOTAL PIECES 19,497	TOTAL POUNDS 5,420.1660	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		DOSTIN)	
CONTAINERS 12	INSERTS: 1 XCEL SEMINARS	SOUTHERN CALIFORNIA EDITION	
VERIFICATION SUMMARY No verification errors.	THE	DEMIL	ERS!
SIC ATU E O	DEP		
WEIGHER	DATA PROCESSED BY	RECEIVED FOR PROCESSING BY	
COMMENTS: DENTAL 1	RADER		



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 56929

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 9/18	CLASS St. Sil	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.1380	TOTAL PIECES 12,847	TOTAL POUNDS 1,772.8860	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		postri)	
CONTAINERS 5	INSERTS: 1 XCEL SEMINARS	NORTHERN CALIFORNIA EDITION	
VERIFICATION SUMMARY: No verification errors.		DENIA	11-01-
SIG ATU		R DELI	VER5!
VEIGHER DATA PROCESSED BY		RECEIVED FOR PROCESSING BY	
COMMENTS: DENTAL 1	IRADER		

September 2018



Restricted Information

3602

POSTAL SERVICE STATEMENT OF MAILING WEIGHING AND DISPATCH CERTIFICATE

STATEMENT 56905

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 8/18	CLASS Stemment	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.3000	TOTAL PIECES 19,501	TOTAL POUNDS 5,850.3000	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		POST	
CONTAINERS 12	INSERTS: 1 XCEL SEMINARS	SOUTHERN CALIFORNIA EDITION	
VERIFICATION SUMMAR No verification errors.	THE	UEIN/FRS!	
TR	ADE	R DELI'	VEITO.
SIGNATURE OF WEIGHER	JL DATA PROCESSED BY	RECEIVED FOR PROCESSING BY	
COMMENTS: DENTAL	TRADER		



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 56906

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 8/18	CLASS St Sil	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.1505	TOTAL PIECES 12,853	TOTAL POUNDS 1,934.3765	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		POSTED	
CONTAINERS 5	INSERTS: 1 XCEL SEMINARS	NORTHERN CALIFORNIA EDITION	
VERIFICATION SUMMAR' No verification errors.	Y:	DENIA	11-01-
SIG ATU		R DELI	VERS!
VEIGHER	DATA PROCESSED BY	RECEIVED FOR PROCESSING BY	
COMMENTS: DENTAL	FRADER		

August 2018



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 56890

GUARANTEED CIRCULATION

STATION OR UNIT: SAN DIEGO BULK MAIL **PERMIT NO: 94 DATE OF MAILING** CLASS **TYPE** PROC CAT 7/18 Flat PΙ **Customer Reference ID WEIGHT OF SINGLE TOTAL POUNDS** N/A PIECE (LBS) 7,117.1350 CAPS Asset No: ___ 0.3650 MAILED FOR: PERMIT NO. NAME: **INSERTS: 3 CONTAINERS** XCEL SEMINARS, PEARSON, 14 SOUTHERN CALIFORNIA EDITION DENTAL PRINT SOURCE **VERIFICATION SUMMARY:** No verification errors. RECEIVED FOR PROCESSING BY COMMENTS: DENTAL TRADER



Restricted Information

3602

POSTAL SERVICE STATEMENT OF MAILING WEIGHING AND DISPATCH CERTIFICATE

STATEMENT 56891

GUARANTEED CIRCULATION

PERMIT NO: 94 SAN DIEGO BULK MAIL STATION OR UNIT: DATE OF MAILING **CLASS** TYPE **PROC CAT** 7/18 ы Flat **Customer Reference ID WEIGHT OF SINGLE TOTAL POUNDS** N/A PIECE (LBS) 2,712.1940 CAPS Asset No: _ 0.2110 MAILED FOR: PERMIT NO. NAME: **INSERTS: 2 CONTAINERS** XCEL SEMINARS, 12 **PEARSON** RDELIVERS **VERIFICATION SUMMARY:** No verification errors. RECEIVED FOR PROCESSING BY COMMENTS: DENTAL TRADER

June 2018



Restricted Information

3602

POSTAL SERVICE STATEMENT OF MAILING WEIGHING AND DISPATCH CERTIFICATE

STATEMENT 56864

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94	
DATE OF MAILING 5/18	CLASS St Sil	PROC CAT Flat	TYPE PI	
WEIGHT OF SINGLE PIECE (LBS) 0.3030	TOTAL PIECES 19,493	TOTAL POUNDS 5,906.3790	Customer Reference ID N/A CAPS Asset No:	
MAILED FOR: PERMIT NO. NAME:		POSTED		
CONTAINERS 12	INSERTS: 1 XCEL SEMINARS	SOUTHERN CALIFORNIA EDITION		
VERIFICATION SUMMAR No verification errors.	Y:	DENIA	IL OCL	
SIGNATURES VEIGHTR	DE DATA PROCESSED BY	PELIVERS! RECEIVED FOR PROCESSING BY		
COMMENTS: DENTAL TRADER				



Restricted Information

3602

POSTAL SERVICE STATEMENT OF MAILING WEIGHING AND DISPATCH CERTIFICATE

STATEMENT 56865

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 5/18	CLASS St. Pail	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.1385	TOTAL PIECES 12,847	TOTAL POUNDS 1,779.3095	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		POSTED	
CONTAINERS 5	INSERTS: 1 XCEL SEMINARS,	NORTHERN CALIFORNIA EDITION	
VERIFICATION SUMMAR' No verification errors.		DENIAL	
SIG ATU	DE DATA PROCESSED BY	R DELI'	
Vildin	DATA PROCESSED BY	RECEIVED FOR PROCESSING BY	
COMMENTS: DENTAL 1	FRADER		

May 2018



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 56835A

GUARANTEED CIRCULATION

STATION OR UNIT: SAN DIEGO BULK MAIL **PERMIT NO: 94 DATE OF MAILING** CLASS **TYPE** PROC CAT 4/18 Flat ы **Customer Reference ID** WEIGHT OF SINGLE **TOTAL POUNDS** N/A PIECE (LBS) 6,821.8500 CAPS Asset No: 0.3500 MAILED FOR: PERMIT NO. NAME: **INSERTS: 3** CONTAINERS XCEL SEMINARS, 14 PEARSON, DENTIMAX **VERIFICATION SUMMARY:** No verification errors. RECEIVED FOR PROCESSING BY COMMENTS: DENTAL TRADER



Restricted Information

3602

POSTAL SERVICE STATEMENT OF MAILING WEIGHING AND DISPATCH CERTIFICATE

STATEMENT 56836

GUARANTEED CIRCULATION

PERMIT NO: 94 STATION OR UNIT: SAN DIEGO BULK MAIL **DATE OF MAILING CLASS** TYPE **PROC CAT** 4/18 ы Flat **Customer Reference ID WEIGHT OF SINGLE TOTAL POUNDS** N/A PIECE (LBS) 2,741.5535 CAPS Asset No: ___ 0.2135 MAILED FOR: PERMIT NO. NAME: **INSERTS: 3 CONTAINERS** XCEL SEMINARS, 13 PEARSON, DENTIMAX R DELIVERS **VERIFICATION SUMMARY:** No verification errors. RECEIVED FOR PROCESSING BY COMMENTS: DENTAL TRADER

April 2018



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 56812

GUARANTEED CIRCULATION

STATION OR UNIT: SAN DIEGO BULK MAIL **PERMIT NO: 94 DATE OF MAILING** CLASS **TYPE** PROC CAT 3/18 Flat ы **Customer Reference ID** WEIGHT OF SINGLE **TOTAL POUNDS** N/A PIECE (LBS) 6,724.3950 CAPS Asset No: 0.3450 MAILED FOR: PERMIT NO. NAME: **INSERTS: 3 CONTAINERS** XCEL SEMINARS, 13 PINHOLE, PEARSON **VERIFICATION SUMMARY:** No verification errors. RECEIVED FOR PROCESSING BY COMMENTS: DENTAL TRADER



Restricted Information

3602

POSTAL SERVICE STATEMENT OF MAILING WEIGHING AND DISPATCH CERTIFICATE

STATEMENT 56814

GUARANTEED CIRCULATION

PERMIT NO: 94 STATION OR UNIT: SAN DIEGO BULK MAIL **DATE OF MAILING CLASS** TYPE **PROC CAT** 3/18 Flat ы **Customer Reference ID WEIGHT OF SINGLE TOTAL POUNDS** N/A PIECE (LBS) 2,549.1370 CAPS Asset No: ___ 0.1985 MAILED FOR: PERMIT NO. NAME: **INSERTS: 3 CONTAINERS** XCEL SEMINARS, 12 PINHOLE, PEARSON R DELIVERS **VERIFICATION SUMMARY:** No verification errors. RECEIVED FOR PROCESSING BY COMMENTS: DENTAL TRADER

March 2018



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 56788

GUARANTEED CIRCULATION

STATION OR UNIT: SAN DIEGO BULK MAIL **PERMIT NO: 94 DATE OF MAILING** CLASS **TYPE** PROC CAT 2/18 Flat PΙ **Customer Reference ID** WEIGHT OF SINGLE **TOTAL POUNDS** N/A PIECE (LBS) 6,442.5690 CAPS Asset No: ___ 0.3430 MAILED FOR: PERMIT NO. NAME: **INSERTS: 3 CONTAINERS** XCEL SEMINARS, 15 PINHOLE, PEARSON **VERIFICATION SUMMARY:** No verification errors. DATA PROCESSED BY RECEIVED FOR PROCESSING BY COMMENTS: DENTAL TRADER



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 56791

GUARANTEED CIRCULATION

PERMIT NO: 94 SAN DIEGO BULK MAIL STATION OR UNIT: DATE OF MAILING **CLASS** TYPE **PROC CAT** 2/18 ы Flat **Customer Reference ID WEIGHT OF SINGLE TOTAL POUNDS** N/A PIECE (LBS) 2,413.8410 CAPS Asset No: _ 0.1970 MAILED FOR: PERMIT NO. NAME: **INSERTS: 2 CONTAINERS** XCEL SEMINARS, 12 PINHOLE, PEARSON R DELIVERS **VERIFICATION SUMMARY:** No verification errors. RECEIVED FOR PROCESSING BY COMMENTS: DENTAL TRADER

February 2018



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 56766

GUARANTEED CIRCULATION

STATION OR UNIT: SAN DIEGO BULK MAIL **PERMIT NO: 94 DATE OF MAILING** CLASS **TYPE** PROC CAT 1/18 Flat PΙ **Customer Reference ID WEIGHT OF SINGLE TOTAL POUNDS** N/A PIECE (LBS) 5.426.8420 CAPS Asset No: ___ 0.2890 MAILED FOR: PERMIT NO. NAME: **INSERTS: 2 CONTAINERS** XCEL SEMINARS, 14 SOUTHERN CALIFORNIA EDITION **PINHOLE VERIFICATION SUMMARY:** No verification errors. DATA PROCESSED BY RECEIVED FOR PROCESSING BY COMMENTS: DENTAL TRADER



Restricted Information

3602

POSTAL SERVICE STATEMENT OF MAILING WEIGHING AND DISPATCH CERTIFICATE

STATEMENT 56767

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 1/18	CLASS St. Sil	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.1705	TOTAL PIECES 12,255	TOTAL POUNDS 2,089.4775	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		POSTED	
CONTAINERS 12	INSERTS: 2 XCEL SEMINARS, PINHOLE	NORTHERN CALIFORNIA EDITION	
VERIFICATION SUMMARY No verification errors.	Y:	DENIA	11-01-
SIG ATU	JL -	R DELI	VERS!
VEIGHER	DATA PROCESSED BY	RECEIVED FOR PROCESSING BY	
COMMENTS: DENTAL 1	IRADER		

December 2017



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 56741

GUARANTEED CIRCULATION

STATION OR UNIT: SAN DIEGO BULK MAIL **PERMIT NO: 94 DATE OF MAILING** CLASS **TYPE** PROC CAT 12/17 Flat ы **Customer Reference ID WEIGHT OF SINGLE TOTAL POUNDS** N/A PIECE (LBS) 5,663.1000 CAPS Asset No: 0.3000 MAILED FOR: PERMIT NO. NAME: **INSERTS: 2** CONTAINERS XCEL SEMINARS, 14 **PINHOLE VERIFICATION SUMMARY:** No verification errors. RECEIVED FOR PROCESSING BY COMMENTS: DENTAL TRADER



Restricted Information

3602

POSTAL SERVICE STATEMENT OF MAILING WEIGHING AND DISPATCH CERTIFICATE

STATEMENT 56742

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94	
DATE OF MAILING 12/17	CLASS St. Pail	PROC CAT Flat	TYPE PI	
WEIGHT OF SINGLE PIECE (LBS) 0.1555	TOTAL PIECES 12,255	TOTAL POUNDS 1,905.6525	Customer Reference ID N/A CAPS Asset No:	
MAILED FOR: PERMIT NO. NAME:		POSTED		
CONTAINERS 5	INSERTS: 2 XCEL SEMINARS, PINHOLE	NORTHERN CALIFORNIA EDITION		
VERIFICATION SUMMAR' No verification errors.	Y:	DENIA	DENIAL	
SIG ATU	DE DATA PROCESSED BY	3 DELI		
V IGH H	DATA PROCESSED BY	RECEIVED FOR PROCESSING BY		
COMMENTS: DENTAL 1	FRADER			

November 2017



Restricted Information

3602

POSTAL SERVICE STATEMENT OF MAILING WEIGHING AND DISPATCH CERTIFICATE

STATEMENT 56687

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94	
DATE OF MAILING 10/17	CLASS St. bil	PROC CAT Flat	TYPE PI	
WEIGHT OF SINGLE PIECE (LBS) 0.3120	TOTAL PIECES 18,784	TOTAL POUNDS 5,860.6080	Customer Reference ID N/A CAPS Asset No:	
MAILED FOR: PERMIT NO. NAME:		POSTED		
CONTAINERS 14	INSERTS: 1 XCEL SEMINARS	SOUTHERN CALIFORNIA EDITION		
VERIFICATION SUMMAR' No verification errors.	Y:	DENIA	DENIAL	
SIC ATULES LEIGH IR	DATA PROCESSED BY	Y DEL	PROCESSING BY	
COMMENTS: DENTAL TRADER				



Restricted Information

3602

POSTAL SERVICE STATEMENT OF MAILING WEIGHING AND DISPATCH CERTIFICATE

STATEMENT 56688

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 10/17	CLASS St. Sil	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.1620	TOTAL PIECES 12,257	TOTAL POUNDS 1,985.6340	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		POSTE	O,
CONTAINERS 5	INSERTS: 1 XCEL SEMINARS	NORTHERN CALIFORNIA EDITION	
VERIFICATION SUMMARY No verification errors.		DENIA	11-01-
SIG ATU		3 DELI	VER5!
VEIGHER	DATA PROCESSED BY	RECEIVED FOR PROCESSING BY	
COMMENTS: DENTAL 1	IRADER		

October 2017



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 56659

GUARANTEED CIRCULATION

STATION OR UNIT: SAN DIEGO BULK MAIL **PERMIT NO: 94 DATE OF MAILING** CLASS **TYPE** PROC CAT 9/17 Flat ы **Customer Reference ID** WEIGHT OF SINGLE **TOTAL POUNDS** N/A PIECE (LBS) 5.823.3500 CAPS Asset No: 0.3100 MAILED FOR: PERMIT NO. NAME: **INSERTS: 2** CONTAINERS XCEL SEMINARS, 14 **UVENEER VERIFICATION SUMMARY:** No verification errors. RECEIVED FOR PROCESSING BY COMMENTS: DENTAL TRADER



Restricted Information

3602

POSTAL SERVICE STATEMENT OF MAILING WEIGHING AND DISPATCH CERTIFICATE

STATEMENT 56663

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94	
DATE OF MAILING 9/17	CLASS St. Sil	PROC CAT Flat	TYPE PI	
WEIGHT OF SINGLE PIECE (LBS) 0.1700	TOTAL PIECES 12,257	TOTAL POUNDS 2,083.6900	Customer Reference ID N/A CAPS Asset No:	
MAILED FOR: PERMIT NO. NAME:		POSTED		
CONTAINERS 13	INSERTS: 2 XCEL SEMINARS, UVENEER	NORTHERN CALIFORNIA EDITION		
VERIFICATION SUMMARY No verification errors.	Y:	DENIA	11-01-	
SIG ATU VEIGH R	DATA PROCESSED BY	RECEIVED FOR PROCESSING BY		
COMMENTS: DENTAL TRADER				

September 2017



Restricted Information

3602

POSTAL SERVICE STATEMENT OF MAILING WEIGHING AND DISPATCH CERTIFICATE

STATEMENT 56643

			_
STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 8/17	CLASS St Sil	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.2850	TOTAL PIECES 18,483	TOTAL POUNDS 5,267.6550	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		POSTED	
CONTAINERS 12	INSERTS: 1 XCEL SEMINARS	SOUTHERN CALIFORNIA EDITION	
VERIFICATION SUMMARY: No verification errors.		DENIA	IEBSI
SIGNATURES DATA PROCESSED BY RECEIVED FOR PROCESSED BY			
COMMENTS: DENTAL TRADER			



Restricted Information

3602

POSTAL SERVICE STATEMENT OF MAILING WEIGHING AND DISPATCH CERTIFICATE

STATEMENT 56645

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 8/17	CLASS St. Sil	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.1500	TOTAL PIECES 12,103	TOTAL POUNDS 1,815.4500	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		POSTED	
CONTAINERS 5	INSERTS: 1 XCEL SEMINARS	NORTHERN CALIFORNIA EDITION	
VERIFICATION SUMMAR' No verification errors.		DENIAL	
SIG ATU S	DE DATA PROCESSED BY	R DELI	
Vildital	DATA PROCESSED BY	RECEIVED FOR PROCESSING BY	
COMMENTS: DENTAL 1	TRADER		

August 2017



Restricted Information

3602

POSTAL SERVICE STATEMENT OF MAILING WEIGHING AND DISPATCH CERTIFICATE

STATEMENT 56615

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 7/17	CLASS St il	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.3340	TOTAL PIECES 18,492	TOTAL POUNDS 6,176.3280	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		POSTE	Q_{i}
CONTAINERS 13	INSERTS: 2 XCEL SEMINARS, RUIZ	SOUTHERN CALIFORNIA EDITION	
VERIFICATION SUMMAR No verification errors.	Y:	DENTA	Lact
SIGNATURES DATA PROCESSED BY RECEIVED FOR PROCESSING BY			
COMMENTS: DENTAL	TRADER		



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 56616

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 7/17	CLASS St Sil	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.2000	TOTAL PIECES 12,111	TOTAL POUNDS 2,422.2000	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		POSTED	
CONTAINERS 6	INSERTS: 3 XCEL SEMINARS, Ruiz, Ace	NORTHERN CALIFORNIA EDITION	
VERIFICATION SUMMARY: No verification errors.			
SIG ATU	JL -	3 DELI	VERS!
V EIGH R	DATA PROCESSED BY	RECEIVED FOR PROCESSING BY	
COMMENTS: DENTAL	TRADER		

June 2017



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 56561

GUARANTEED CIRCULATION

STATION OR UNIT: SAN DIEGO BULK MAIL **PERMIT NO: 94 DATE OF MAILING** CLASS **TYPE** PROC CAT 5/17 Flat PΙ **Customer Reference ID** WEIGHT OF SINGLE **TOTAL POUNDS** N/A PIECE (LBS) 5718.3500 CAPS Asset No: ___ 0.3090 MAILED FOR: PERMIT NO. NAME: **INSERTS: 2 CONTAINERS** SURGICAL SEDATION, 12 XCEL SEMINARS **VERIFICATION SUMMARY:** No verification errors. RECEIVED FOR PROCESSING BY **COMMENTS: DENTAL TRADER**



Restricted Information

3602

POSTAL SERVICE STATEMENT OF MAILING WEIGHING AND DISPATCH CERTIFICATE

STATEMENT 56562

GUARANTEED CIRCULATION

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 5/17	CLASS St Sil	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.1580	TOTAL PIECES 12,121	TOTAL POUNDS 1,915.1180	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		POSTE	0,
CONTAINERS 6	INSERTS: 1 XCEL SEMINARS	NORTHERN CALIFORNIA EDITION	
VERIFICATION SUMMARY: No verification errors.		DENIAL	
SIG ATU DATA PROCESSED BY RECEIVED FOR PROCESSING BY			
COMMENTS: DENTAL T	RADER		_

May 2017



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 56536

GUARANTEED CIRCULATION

STATION OR UNIT: SAN DIEGO BULK MAIL **PERMIT NO: 94 DATE OF MAILING** CLASS **TYPE** PROC CAT 4/17 Flat PΙ **Customer Reference ID** WEIGHT OF SINGLE **TOTAL POUNDS** N/A PIECE (LBS) 6,570.3400 CAPS Asset No: ___ 0.3550 **MAILED FOR:** PERMIT NO. NAME: **INSERTS: 3 CONTAINERS** PINHOLE, DENTIMAX, 14 XCEL SEMINARS **VERIFICATION SUMMARY:** No verification errors. RECEIVED FOR PROCESSING BY **COMMENTS: DENTAL TRADER**



Restricted Information

3602

POSTAL SERVICE STATEMENT OF MAILING WEIGHING AND DISPATCH CERTIFICATE

STATEMENT 56537

GUARANTEED CIRCULATION

PERMIT NO: 94 SAN DIEGO BULK MAIL STATION OR UNIT: DATE OF MAILING **CLASS** TYPE **PROC CAT** 4/17 ы Flat **Customer Reference ID WEIGHT OF SINGLE TOTAL POUNDS** N/A PIECE (LBS) 2,466.2165 CAPS Asset No: _ 0.2035 MAILED FOR: PERMIT NO. NAME: **INSERTS: 3 CONTAINERS** PINHOLE, DENTOX, 6 **XCEL SEMINARS** R DELIVERS **VERIFICATION SUMMARY:** No verification errors. DATA PROCESSED BY RECEIVED FOR PROCESSING BY COMMENTS: DENTAL TRADER

April 2017



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 56506

GUARANTEED CIRCULATION

STATION OR UNIT: SAN DIEGO BULK MAIL **PERMIT NO: 94 DATE OF MAILING** CLASS **TYPE** PROC CAT 3/17 Flat PΙ **Customer Reference ID** WEIGHT OF SINGLE **TOTAL POUNDS** N/A PIECE (LBS) 5,444.8772 CAPS Asset No: ___ 0.2947 **MAILED FOR:** PERMIT NO. NAME: **INSERTS: 2 CONTAINERS** DENTOX. 12 **XCEL SEMINARS VERIFICATION SUMMARY:** No verification errors. RECEIVED FOR PROCESSING BY **COMMENTS: DENTAL TRADER**



Restricted Information

3602

POSTAL SERVICE STATEMENT OF MAILING WEIGHING AND DISPATCH CERTIFICATE

STATEMENT 56510

GUARANTEED CIRCULATION

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 3/17	CLASS St Sil	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.1600	TOTAL PIECES 12,134	TOTAL POUNDS 1,941.4400	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		POSTE	0,
CONTAINERS 12	INSERTS: 2 DENTOX, XCEL SEMINARS	NORTHERN CALIFORNIA EDITION	
VERIFICATION SUMMARY: No verification errors.		DENIA	1 - O L
SIG ATU DATA PROCESSED BY RECEIVED FOR PROCESSING BY			
COMMENTS: DENTAL T	RADER		

March 2017



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 56477

GUARANTEED CIRCULATION

STATION OR UNIT: SAN DIEGO BULK MAIL **PERMIT NO: 94 DATE OF MAILING** CLASS **TYPE** PROC CAT 2/17 Flat PΙ **Customer Reference ID** WEIGHT OF SINGLE **TOTAL POUNDS** N/A PIECE (LBS) 5,257.4080 CAPS Asset No: ___ 0.2840 MAILED FOR: PERMIT NO. NAME: **INSERTS: 1 CONTAINERS XCEL SEMINARS** 12 **VERIFICATION SUMMARY:** No verification errors. RECEIVED FOR PROCESSING BY **COMMENTS: DENTAL TRADER**



Restricted Information

3602

POSTAL SERVICE STATEMENT OF MAILING WEIGHING AND DISPATCH CERTIFICATE

STATEMENT 56478

GUARANTEED CIRCULATION

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
OTATION OIL OILLI.	OAN DIEGO BOLK WAIL		
DATE OF MAILING 2/17	CLASS St Silvail	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.1480	TOTAL PIECES 12,131	TOTAL POUNDS 1,795.3880	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		POSTED	
CONTAINERS 5	INSERTS: 1 XCEL SEMINARS	NORTHERN CALIFORNIA EDITION	
VERIFICATION SUMMARY: No verification errors.			12
SIG ATURAL DATA PROCESSED BY RECEIVED FOR PROCESSING BY			
COMMENTS: DENTAL T	BADER		
SOMMENTO: BENTAL			

February 2017



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 56449

GUARANTEED CIRCULATION

STATION OR UNIT: SAN DIEGO BULK MAIL **PERMIT NO: 94 DATE OF MAILING** CLASS **TYPE** PROC CAT 1/17 Flat PΙ **Customer Reference ID** WEIGHT OF SINGLE **TOTAL POUNDS** N/A PIECE (LBS) 5,350.5460 CAPS Asset No: ___ 0.2890 **MAILED FOR:** PERMIT NO. NAME: **INSERTS: 2 CONTAINERS** XCEL SEMINARS, 12 CIDE **VERIFICATION SUMMARY:** No verification errors. RECEIVED FOR PROCESSING BY **COMMENTS: DENTAL TRADER**



Restricted Information

3602

POSTAL SERVICE STATEMENT OF MAILING WEIGHING AND DISPATCH CERTIFICATE

STATEMENT 56447

GUARANTEED CIRCULATION

PERMIT NO: 94 SAN DIEGO BULK MAIL STATION OR UNIT: DATE OF MAILING **CLASS** TYPE **PROC CAT** 1/17 ы Flat **Customer Reference ID WEIGHT OF SINGLE TOTAL POUNDS** N/A PIECE (LBS) 2,050.1390 CAPS Asset No: _ 0.1690 MAILED FOR: PERMIT NO. NAME: **INSERTS: 2 CONTAINERS** XCEL SEMINARS, 6 CIDE DENTAL R DELIVERS **VERIFICATION SUMMARY:** No verification errors. DATA PROCESSED BY RECEIVED FOR PROCESSING BY COMMENTS: DENTAL TRADER

January 2017



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 56423

GUARANTEED CIRCULATION

STATION OR UNIT: SAN DIEGO BULK MAIL **PERMIT NO: 94 DATE OF MAILING** CLASS **TYPE** PROC CAT 12/16 Flat PΙ **Customer Reference ID** WEIGHT OF SINGLE **TOTAL POUNDS** N/A PIECE (LBS) 5,742.1300 CAPS Asset No: ___ 0.3100 **MAILED FOR:** PERMIT NO. NAME: **INSERTS: 3 CONTAINERS** XCEL SEMINARS, 12 USC, CIDE **VERIFICATION SUMMARY:** No verification errors. RECEIVED FOR PROCESSING BY **COMMENTS: DENTAL TRADER**



Restricted Information

3602

POSTAL SERVICE STATEMENT OF MAILING WEIGHING AND DISPATCH CERTIFICATE

STATEMENT 56424

GUARANTEED CIRCULATION

PERMIT NO: 94 SAN DIEGO BULK MAIL STATION OR UNIT: DATE OF MAILING **CLASS** TYPE **PROC CAT** 12/16 ы Flat **Customer Reference ID WEIGHT OF SINGLE TOTAL POUNDS** N/A PIECE (LBS) 2,251.0425 CAPS Asset No: _ 0.1855 MAILED FOR: PERMIT NO. NAME: **INSERTS: 2 CONTAINERS** XCEL SEMINARS, 6 USC, CIDE RDELIVERS **VERIFICATION SUMMARY:** No verification errors. DATA PROCESSED BY RECEIVED FOR PROCESSING BY COMMENTS: DENTAL TRADER

December 2016



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 56391

GUARANTEED CIRCULATION

STATION OR UNIT: SAN DIEGO BULK MAIL **PERMIT NO: 94 DATE OF MAILING** CLASS **TYPE** PROC CAT 11/16 Flat PΙ **Customer Reference ID** WEIGHT OF SINGLE **TOTAL POUNDS** N/A PIECE (LBS) 8.428.8750 CAPS Asset No: ___ 0.4550 MAILED FOR: PERMIT NO. NAME: **INSERTS: 3 CONTAINERS** DT 2017 CALENDER, 15 XCEL SEMINARS **VERIFICATION SUMMARY:** No verification errors. RECEIVED FOR PROCESSING BY **COMMENTS: DENTAL TRADER**



Restricted Information

3602

POSTAL SERVICE STATEMENT OF MAILING WEIGHING AND DISPATCH CERTIFICATE

STATEMENT 56392

GUARANTEED CIRCULATION

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 11/16	CLASS St Sil	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.3240	TOTAL PIECES 12,139	TOTAL POUNDS 3,933.0360	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		POSTED	
CONTAINERS 6	INSERTS: 2 2017 DT CALENDER, XCEL SEMINARS	NORTHERN CALIFORNIA EDITION	
VERIFICATION SUMMARY: No verification errors.		DENIAL	
No verification errors. SIG ATU DATA PROCESSED BY RECEIVED FOR PROCESSING BY			
COMMENTS: DENTAL 7	RADER		

November 2016



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 56362

GUARANTEED CIRCULATION

STATION OR UNIT: SAN DIEGO BULK MAIL **PERMIT NO: 94 DATE OF MAILING** CLASS **TYPE** PROC CAT 10/16 Flat PΙ **Customer Reference ID** WEIGHT OF SINGLE **TOTAL POUNDS** N/A PIECE (LBS) 5.929.6000 CAPS Asset No: ___ 0.3200 **MAILED FOR:** PERMIT NO. NAME: **INSERTS: 3 CONTAINERS** PINHOLE, PEARSON, 13 XCEL SEMINARS **VERIFICATION SUMMARY:** No verification errors. RECEIVED FOR PROCESSING BY **COMMENTS: DENTAL TRADER**



Restricted Information

3602

POSTAL SERVICE STATEMENT OF MAILING WEIGHING AND DISPATCH CERTIFICATE

STATEMENT 56363

GUARANTEED CIRCULATION

PERMIT NO: 94 SAN DIEGO BULK MAIL STATION OR UNIT: DATE OF MAILING **CLASS** TYPE **PROC CAT** 10/16 ы Flat **Customer Reference ID WEIGHT OF SINGLE TOTAL POUNDS** N/A PIECE (LBS) 2,750.8720 CAPS Asset No: _ 0.2260 MAILED FOR: PERMIT NO. NAME: **INSERTS: 3 CONTAINERS** PINHOLE, PEARSON, 6 **XCEL SEMINARS** R DELIVERS **VERIFICATION SUMMARY:** No verification errors. DATA PROCESSED BY RECEIVED FOR PROCESSING BY COMMENTS: DENTAL TRADER

October 2016



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 56336

GUARANTEED CIRCULATION

STATION OR UNIT: SAN DIEGO BULK MAIL **PERMIT NO: 94 DATE OF MAILING** CLASS PROC CAT **TYPE** 09/16 Flat PΙ **Customer Reference ID WEIGHT OF SINGLE TOTAL POUNDS** N/A PIECE (LBS) 6,190.3560 CAPS Asset No: ___ 0.3340 **MAILED FOR:** PERMIT NO. NAME: **INSERTS: 3 CONTAINERS** PINHOLE, DENTIMAX, 13 XCEL SEMINARS **VERIFICATION SUMMARY:** No verification errors. DATA PROCESSED BY RECEIVED FOR PROCESSING BY **COMMENTS: DENTAL TRADER**



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 56337

GUARANTEED CIRCULATION

PERMIT NO: 94 SAN DIEGO BULK MAIL STATION OR UNIT: DATE OF MAILING **CLASS** TYPE **PROC CAT** 09/16 ы Flat **Customer Reference ID WEIGHT OF SINGLE TOTAL POUNDS** N/A PIECE (LBS) 2,470.0320 CAPS Asset No: _ 0.2040 MAILED FOR: PERMIT NO. NAME: **INSERTS: 3 CONTAINERS** PINHOLE, DENTIMAX, NORTHERN CALIFORNIA E 6 **XCEL SEMINARS VERIFICATION SUMMARY:** No verification errors. DATA PROCESSED BY RECEIVED FOR PROCESSING BY COMMENTS: DENTAL TRADER

September 2016



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 56308

GUARANTEED CIRCULATION

STATION OR UNIT: SAN DIEGO BULK MAIL **PERMIT NO: 94 DATE OF MAILING** CLASS PROC CAT **TYPE** 08/16 Flat PΙ **Customer Reference ID WEIGHT OF SINGLE TOTAL POUNDS** N/A PIECE (LBS) 6,117.8700 CAPS Asset No: ___ 0.3300 **MAILED FOR:** PERMIT NO. NAME: **INSERTS: 3 CONTAINERS** PINHOLE, CLOUD, 12 **XCEL SEMINARS VERIFICATION SUMMARY:** No verification errors. DATA PROCESSED BY RECEIVED FOR PROCESSING BY **COMMENTS: DENTAL TRADER**



Restricted Information

3602

POSTAL SERVICE STATEMENT OF MAILING WEIGHING AND DISPATCH CERTIFICATE

STATEMENT 56309

GUARANTEED CIRCULATION

PERMIT NO: 94 SAN DIEGO BULK MAIL STATION OR UNIT: DATE OF MAILING **CLASS** TYPE **PROC CAT** 08/16 ы Flat **Customer Reference ID WEIGHT OF SINGLE TOTAL POUNDS** N/A PIECE (LBS) 2,785.3000 CAPS Asset No: _ 0.2300 MAILED FOR: PERMIT NO. NAME: **INSERTS: 3 CONTAINERS** PINHOLE, CLOUD, NORTHERN CALIFORNIA E 6 **XCEL SEMINARS VERIFICATION SUMMARY:** No verification errors. DATA PROCESSED BY RECEIVED FOR PROCESSING BY COMMENTS: DENTAL TRADER

August 2016



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 56285

GUARANTEED CIRCULATION

STATION OR UNIT: SAN DIEGO BULK MAIL **PERMIT NO: 94 DATE OF MAILING** CLASS PROC CAT **TYPE** 07/16 Flat PΙ **Customer Reference ID WEIGHT OF SINGLE TOTAL POUNDS** N/A PIECE (LBS) 5,775.4320 CAPS Asset No: ___ 0.3120 **MAILED FOR:** PERMIT NO. NAME: **INSERTS: 2 CONTAINERS** XCEL, ESTHETIC PROF. 12 **VERIFICATION SUMMARY:** No verification errors. DATA PROCESSED BY RECEIVED FOR PROCESSING BY **COMMENTS: DENTAL TRADER**



Restricted Information

3602

POSTAL SERVICE STATEMENT OF MAILING WEIGHING AND DISPATCH CERTIFICATE

STATEMENT 56286

GUARANTEED CIRCULATION

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 07/16	CLASS St Sil	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.2060	TOTAL PIECES 12,113	TOTAL POUNDS 2,495.2780	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		POSTED	
CONTAINERS 7	INSERTS: 2 XCEL, ESTHETIC PROF.	NORTHERN CALIFORNIA ELITION	
VERIFICATION SUMMAR' No verification errors.	HE	DEN	FDS
SIGI W GA.	DE DATA PROCESSED BY		PROCESSING BY
COMMENTS: DENTAL T	RADER		

June 2016



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 56241

GUARANTEED CIRCULATION

STATION OR UNIT: SAN DIEGO BULK MAIL **PERMIT NO: 94 DATE OF MAILING** CLASS PROC CAT **TYPE** 05/16 Flat PΙ **Customer Reference ID** WEIGHT OF SINGLE **TOTAL POUNDS** N/A PIECE (LBS) 5.489.3200 CAPS Asset No: ___ 0.2960 **MAILED FOR:** PERMIT NO. NAME: **INSERTS: 2 CONTAINERS** DENTIMAX, Z-SYSTEM 12 **VERIFICATION SUMMARY:** No verification errors. DATA PROCESSED BY RECEIVED FOR PROCESSING BY **COMMENTS: DENTAL TRADER**



Restricted Information

3602

POSTAL SERVICE STATEMENT OF MAILING WEIGHING AND DISPATCH CERTIFICATE

STATEMENT 56240

GUARANTEED CIRCULATION

PERMIT NO: 94 SAN DIEGO BULK MAIL STATION OR UNIT: DATE OF MAILING **CLASS** TYPE **PROC CAT** 05/16 ы Flat **Customer Reference ID WEIGHT OF SINGLE TOTAL POUNDS** N/A PIECE (LBS) 2,402.4455 CAPS Asset No: _ 0.1985 MAILED FOR: PERMIT NO. NAME: **INSERTS: 3 CONTAINERS** DENTIMAX, XCEL, NORTHERN CALIFORNIA E 6 **Z-SYSTEM VERIFICATION SUMMARY:** No verification errors. DATA PROCESSED BY RECEIVED FOR PROCESSING BY COMMENTS: DENTAL TRADER

May 2016



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 56217

GUARANTEED CIRCULATION

STATION OR UNIT: SAN DIEGO BULK MAIL **PERMIT NO: 94 DATE OF MAILING** CLASS PROC CAT **TYPE** 04/16 Flat PΙ **Customer Reference ID WEIGHT OF SINGLE TOTAL POUNDS** N/A PIECE (LBS) 6,677.6400 CAPS Asset No: ___ 0.33600 **MAILED FOR:** PERMIT NO. NAME: **INSERTS: 5 CONTAINERS** DENTIMAX, XCEL, 14 PINHOLE, OLSON, ESTHETIC PROF. **VERIFICATION SUMMARY:** No verification errors. DATA PROCESSED BY RECEIVED FOR PROCESSING BY **COMMENTS: DENTAL TRADER**



Restricted Information

3602

POSTAL SERVICE STATEMENT OF MAILING WEIGHING AND DISPATCH CERTIFICATE

STATEMENT 56218

GUARANTEED CIRCULATION

PERMIT NO: 94 SAN DIEGO BULK MAIL STATION OR UNIT: DATE OF MAILING **CLASS** TYPE **PROC CAT** 04/16 ы Flat **Customer Reference ID WEIGHT OF SINGLE TOTAL POUNDS** N/A PIECE (LBS) 2,788.2900 CAPS Asset No: _ 0.2300 MAILED FOR: PERMIT NO. NAME: **INSERTS: 5 CONTAINERS** DENTIMAX, XCEL, Z-SY, NORTHERN CALIFORNIA E 6 PINHOLE, ESTHETIC PROF. **VERIFICATION SUMMARY:** No verification errors. DATA PROCESSED BY RECEIVED FOR PROCESSING BY COMMENTS: DENTAL TRADER

April 2016



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 56192

GUARANTEED CIRCULATION

STATION OR UNIT: SAN DIEGO BULK MAIL **PERMIT NO: 94 DATE OF MAILING** CLASS PROC CAT **TYPE** 03/16 Flat PΙ **Customer Reference ID WEIGHT OF SINGLE TOTAL POUNDS** N/A PIECE (LBS) 6,067.1580 CAPS Asset No: ___ 0.3270 **MAILED FOR:** PERMIT NO. NAME: **INSERTS: 4 CONTAINERS** DENTIMAX, XCEL, 13 ANACAPA, MASTERLINK **VERIFICATION SUMMARY:** No verification errors. DATA PROCESSED BY RECEIVED FOR PROCESSING BY **COMMENTS: DENTAL TRADER**



Restricted Information

3602

POSTAL SERVICE STATEMENT OF MAILING WEIGHING AND DISPATCH CERTIFICATE

STATEMENT 56193

GUARANTEED CIRCULATION

PERMIT NO: 94 SAN DIEGO BULK MAIL STATION OR UNIT: DATE OF MAILING **CLASS** TYPE **PROC CAT** 03/16 ы Flat **Customer Reference ID WEIGHT OF SINGLE TOTAL POUNDS** N/A PIECE (LBS) 2,728.1250 CAPS Asset No: _ 0.2250 MAILED FOR: PERMIT NO. NAME: **INSERTS: 4 CONTAINERS** DENTIMAX, XCEL, ANA-NORTHERN CALIFORNIA E 6 CAPA, MASTERLINK **VERIFICATION SUMMARY:** No verification errors. DATA PROCESSED BY RECEIVED FOR PROCESSING BY COMMENTS: DENTAL TRADER

March 2016



Restricted Information

3602

POSTAL SERVICE STATEMENT OF MAILING WEIGHING AND DISPATCH CERTIFICATE

STATEMENT 56163

	76 VN D D Y		
STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 02/16	CLASS St Si	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.3520	TOTAL PIECES 18,569	TOTAL POUNDS 6,536.2880	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		POSTE	0
CONTAINERS 14	INSERTS: 5 LVI, DENTIMAX, XCEL, ANACAPA, MASTERLINK	SOUTHERN CALIFORNIA EDITION	
VERIFICATION SUMMAR'NO verification errors.	Y: DEF DATA PROCESSED BY		PROCESSING BY
COMMENTS: DENTAL T	RADER		



Restricted Information

3602

POSTAL SERVICE STATEMENT OF MAILING WEIGHING AND DISPATCH CERTIFICATE

STATEMENT 56166

VUMI			
STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 02/16	CLASS	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.2600	TOTAL PIECES 12,132	TOTAL POUNDS 3,154.3200	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		POSTE	0,
CONTAINERS 6	INSERTS: 5 LVI, DENTIMAX, XCEL, ANACAPA, MASTERLINK	NORTHERN CALIFORNIA ELITION	
VERIFICATION SUMMAR No verification errors	LIE	DENI	VERS!
SIG TO E	DEF DATA PROCESSED BY		PROCESSING BY
COMMENTS: DENTAL T	rader		

February 2016



Restricted Information

3602

POSTAL SERVICE STATEMENT OF MAILING WEIGHING AND DISPATCH CERTIFICATE

STATEMENT 56138

UUMI	75 V		
STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 01/15	CLASS St. Si	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.3150	TOTAL PIECES 18,569	TOTAL POUNDS 5,849.2350	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		POSTE	0,
CONTAINERS 13	INSERTS: 4 DENTIMAX, XCEL, LENSIORA, DT CALENDAR	SOUTHERN CALIFORNIA EDITION	
VERIFICATION SUMMAR'NO verification errors.	YE THE DEF		PROCESSING BY
COMMENTS: DENTAL T	rader		



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 56141

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 01/15	CLASS	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.2270	TOTAL PIECES 12,130	TOTAL POUNDS 2,753.5100	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		POSTE	0
CONTAINERS 6	INSERTS: 3 DENTIMAX, LENSIORA, DT CALENDAR	NORTHERN CALIFORNIA E ITION	
VERIFICATION SUMMAR No verification errors	DEF DATA PROCESSED BY		PROCESSING BY
COMMENTS: DENTAL T	FRADER		

January 2016



Restricted Information

3602

POSTAL SERVICE STATEMENT OF MAILING WEIGHING AND DISPATCH CERTIFICATE

STATEMENT 56116

UUAI	76 VN D D Y		
STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 12/15	CLASS St Si	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.3150	TOTAL PIECES 18,583	TOTAL POUNDS 5,853.6450	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		POSTE	0.
CONTAINERS 12	INSERTS: 4 DENTIMAX, XCEL, LENSIORA, DT CALENDAR	SOUTHERN CALIFORNIA EDITION	
VERIFICATION SUMMAR'NO verification errors.	DEF DATA PROCESSED BY		PROCESSING BY
COMMENTS: DENTAL T	RADER		



Restricted Information

3602

POSTAL SERVICE STATEMENT OF MAILING WEIGHING AND DISPATCH CERTIFICATE

STATEMENT 56118

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 12/15	CLASS	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.2155	TOTAL PIECES 12,133	TOTAL POUNDS 2,614.6615	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		POSTE	0
CONTAINERS 6	INSERTS: 3 DENTIMAX, LENSIORA, DT CALENDAR	NORTHERN CALIFORNIA ELITION	
VERIFICATION SUMMAR No verification errors	Y: DEF DATA PROCESSED BY	DEN	PROCESSING BY
COMMENTS: DENTAL 7	ΓRADER		

December 2015



Restricted Information

3602

POSTAL SERVICE STATEMENT OF MAILING WEIGHING AND DISPATCH CERTIFICATE

STATEMENT 56093

STATION OR UNIT:	SAN DIEGO BULK	MAIL	PERMIT NO: 94
DATE OF MAILING 11/15	CLASS St si	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.4750	TOTAL PIECES 18,586	TOTAL POUNDS 8,828.3500	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		POSTE	0.
CONTAINERS 14	INSERTS: 4 DENTIMAX, XCEL, LENSIORA, DT CALENDAR	SOUTHERN CALIFORNIA EDITION	
VERIFICATION SUMMAR No verification errors.	Y: PHE DEF DATA PROCESSED BY		VERS:
COMMENTS: DENTAL T	FRADER		



Restricted Information

3602

POSTAL SERVICE STATEMENT OF MAILING WEIGHING AND DISPATCH CERTIFICATE

STATEMENT 56094

UUAN			
STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 11/15	CLASS	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.3700	TOTAL PIECES 12,137	TOTAL POUNDS 4,490.6900	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		POSTE	0.
CONTAINERS 7	INSERTS: 3 DENTIMAX, LENSIORA, DT CALENDAR	NORTHERN CALIFORNIA ELITION	
VERIFICATION SUMMAR' No verification errors SIGNITUS VERIFICATION SUMMAR'	DEF DATA PROCESSED BY		PROCESSING BY
COMMENTS: DENTAL T	RADER		

November 2015



Restricted Information

3602

POSTAL SERVICE STATEMENT OF MAILING WEIGHING AND DISPATCH CERTIFICATE

STATEMENT 56071

	76 VN D D V		
STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 10/15	CLASS St Si	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.2800	TOTAL PIECES 18,580	TOTAL POUNDS 6,503.0000	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		POSTE	0.
CONTAINERS 14	INSERTS: 4 PINHOLE, RUIZ, DENTIMAX, XCEL	SOUTHERN CALIFORNIA EDITION	
VERIFICATION SUMMAR' No verification errors.	YE DEF		PROCESSING BY
COMMENTS: DENTAL T	RADER		



Restricted Information

3602

POSTAL SERVICE STATEMENT OF MAILING WEIGHING AND DISPATCH CERTIFICATE

STATEMENT 56072

	76 VN D D Y		
STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 10/15	CLASS	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.2450	TOTAL PIECES 12,144	TOTAL POUNDS 2,975.2800	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		POSTE	0.
CONTAINERS 6	INSERTS: 4 PINHOLE, RUIZ, DENTIMAX, XCEL,	NORTHERN CALIFO	ENIA E ITION
VERIFICATION SUMMAR' No verification errors SIGNITE VEIGHER	DEF DATA PROCESSED BY		PROCESSING BY
COMMENTS: DENTAL T	RADER		

October 2015



Restricted Information

3602

POSTAL SERVICE STATEMENT OF MAILING WEIGHING AND DISPATCH CERTIFICATE

STATEMENT 56048

	76 11 1 1		
STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 9/15	CLASS St vi	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.2800	TOTAL PIECES 18,587	TOTAL POUNDS 5,204.3600	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		POSTE	0.
CONTAINERS 13	INSERTS: 2 PINHOLE, XCEL	SOUTHERN CALIFORNIA EDITION	
VERIFICATION SUMMAR' No verification errors.	DE DATA PROCESSED BY		PROCESSING BY
COMMENTS: DENTAL T	RADER		



Restricted Information

3602

POSTAL SERVICE STATEMENT OF MAILING WEIGHING AND DISPATCH CERTIFICATE

STATEMENT 56049

UUAI	75 V		
STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 9/15	CLASS	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.2000	TOTAL PIECES 12,143	TOTAL POUNDS 2,428.6000	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		POSTE	0
CONTAINERS 6	INSERTS: 2 PINHOLE, XCEL,	NORTHERN CALIFO	TIA ELITION
VERIFICATION SUMMAR No verification errors	P: HE DEF		PROCESSING BY
COMMENTS: DENTAL T	RADER		

August 2015



Restricted Information

3602

POSTAL SERVICE STATEMENT OF MAILING WEIGHING AND DISPATCH CERTIFICATE

STATEMENT 56004

	76 V		
STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 7/15	CLASS St	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.3500	TOTAL PIECES 18,606	TOTAL POUNDS 6,512.1000	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		POSTE	0.
CONTAINERS 15	INSERTS: 5 PINHOLE, XCEL, RUIZ, DENTIMAX, DANSEREAU	SOUTHERN CALIFORNIA EDITION	
VERIFICATION SUMMARY: No verification errors. SIGNATE CALLED JL DATA PROCESSED BY		DENIA SERSING BY	
COMMENTS: DENTAL T	RADER		



Restricted Information

3602

POSTAL SERVICE STATEMENT OF MAILING WEIGHING AND DISPATCH CERTIFICATE

STATEMENT 56005

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 7/15	CLASS	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.2300	TOTAL PIECES 12,155	TOTAL POUNDS 2,795.6500	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		POSTE	0
CONTAINERS 7	INSERTS: 4 PINHOLE, XCEL, RUIZ, DENTIMAX	NORTHERN CALIFORNIA ELITION	
VERIFICATION SUMMAR No verification errors	Y: DEF DATA PROCESSED BY	DEN DELI	PROCESSING BY
COMMENTS: DENTAL 1	ΓRADER		

June 2015



Restricted Information

3602

POSTAL SERVICE STATEMENT OF MAILING WEIGHING AND DISPATCH CERTIFICATE

STATEMENT 55960

VUAL			
STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 5/15	CLASS St vi	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.3600	TOTAL PIECES 18,623	TOTAL POUNDS 6,704.2800	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		POSTE	0,
CONTAINERS 15	INSERTS: 3 PINHOLE, XCEL, AAFE	SOUTHERN CALIFORNIA EDITION	
VERIFICATION SUMMARY: No verification errors. SIGNATE OF THE OF			PROCESSING BY
COMMENTS: DENTAL T	FRADER		



Restricted Information

3602

POSTAL SERVICE STATEMENT OF MAILING WEIGHING AND DISPATCH CERTIFICATE

STATEMENT 55961

VUAL			
STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 5/15	CLASS	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.2700	TOTAL PIECES 12,166	TOTAL POUNDS 3,284.8200	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		POSTE	0,
CONTAINERS 8	INSERTS: 2 PINHOLE, XCEL, AAFE	NORTHERN CALIFORNIA EXITION	
VERIFICATION SUMMAR No verification errors	Y: HE DEF		PROCESSING BY
COMMENTS: DENTAL T	FRADER		

May 2015



Restricted Information

3602

POSTAL SERVICE STATEMENT OF MAILING WEIGHING AND DISPATCH CERTIFICATE

STATEMENT 55936

VUAL			
STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 4/15	CLASS St	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.2700	TOTAL PIECES 18,630	TOTAL POUNDS 5,030.1000	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		POSTE	0,
CONTAINERS 13	INSERTS: 2 PINHOLE, XCEL	SOUTHERN CALIFORNIA EDITION	
VERIFICATION SUMMARY: No verification errors. SIGNATE OF THE CONTROL OF THE CONT			PROCESSING BY
COMMENTS: DENTAL T	RADER		



Restricted Information

3602

POSTAL SERVICE STATEMENT OF MAILING WEIGHING AND DISPATCH CERTIFICATE

STATEMENT 55937

UUAI	75 10 11 17		
STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 4/15	CLASS	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.1940	TOTAL PIECES 12,178	TOTAL POUNDS 2,362.5320	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		POSTE	0
CONTAINERS 6	INSERTS: 2 PINHOLE, XCEL	NORTHERN CALIFORNIA ELITION	
VERIFICATION SUMMARY: No verification errors SIGNER JL VL-IGHER DATA PROCESSED BY		DEN ASSERS DELIVERS RECEIVED FOR PROCESSING BY	
COMMENTS: DENTAL T	RADER		

April 2015



Restricted Information

3602

POSTAL SERVICE STATEMENT OF MAILING WEIGHING AND DISPATCH CERTIFICATE

STATEMENT 55888

VUAL			
STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 02/15	CLASS St Si	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.3075	TOTAL PIECES 18,645	TOTAL POUNDS 5,733.3375	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		POSTE	0,
CONTAINERS 13	INSERTS: 2 PEARSON, RUIZ	SOUTHERN CALIFORNIA EDITION	
VERIFICATION SUMMARY: No verification errors. SIGNATE OF DATA PROCESSED BY			PROCESSING BY
COMMENTS: DENTAL T	RADER		



Restricted Information

3602

No verification errors.

COMMENTS: DENTAL TRADER

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 55890

GUARANTEED CIRCULATION **PERMIT NO: 94** STATION OR UNIT: SAN DIEGO BULK MAIL DATE OF MAILING PROC CAT **TYPE** 02/15 ы Flat **Customer Reference ID WEIGHT OF SINGLE TOTAL POUNDS** N/A PIECE (LBS) 2.473.3520 CAPS Asset No: _ 0.2030 MAILED FOR: PERMIT NO. NAME: INSERTS: 1 **CONTAINERS** RUIZ **VERIFICATION SUMMARY:**

RECEIVED FOR PROCESSING BY

I <u>Feedback</u> I <u>Logout</u> I Copyright © 1999-2006 USPS. All Rights Reserved. Terms of Use

DATA PROCESSED BY

March 2015



Restricted Information

3602

POSTAL SERVICE STATEMENT OF MAILING WEIGHING AND DISPATCH CERTIFICATE

STATEMENT 55863

STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 1/15	CLASS St. vil	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.2390	TOTAL PIECES 18,809	TOTAL POUNDS 4,495.3510	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		POSTE	0,
CONTAINERS 11	INSERTS: 1 XCEL	SOUTHERN CALIFORNIA EDITION	
VERIFICATION SUMMARY: No verification errors. SIGNATE OF DATA PROCESSED BY		DENIVERS RECEIVED FOR PROCESSING BY	
COMMENTS: DENTAL T	RADER		



Restricted Information

3602

POSTAL SERVICE
STATEMENT OF MAILING WEIGHING AND DISPATCH
CERTIFICATE

STATEMENT 55865

UUAN			
STATION OR UNIT:	SAN DIEGO BULK MAIL		PERMIT NO: 94
DATE OF MAILING 1/15	CLASS	PROC CAT Flat	TYPE PI
WEIGHT OF SINGLE PIECE (LBS) 0.1385	TOTAL PIECES 12,262	TOTAL POUNDS 1,689.2870	Customer Reference ID N/A CAPS Asset No:
MAILED FOR: PERMIT NO. NAME:		POSTE	0.
CONTAINERS 5	INSERTS: 1 XCEL	NORTHERN CALIFORNIA ELITION	
VERIFICATION SUMMARY: No verification errors SIG TO F V.E-IGHER DATA PROCESSED BY			PROCESSING BY
COMMENTS: DENTAL 1	FRADER		